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Correct Marks : 1 Wrong Marks : 0

An mternational centre for the identification of plants 1s

S50 (1300 §TEH DAW WoBTSAN Sofiain.
Options :
Botanical Survey of India

o, W80 0y v sebolr
International Code of Botanical Nomenclature
. 90OTPS0N Sy& e g
2. ® " »
Royal Botanic Garden
i OPONEG e5¢rd5 n'°§5
ICTV
4 %

Question Number : 2 Question Id : 7196501762 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Match the following lists:
List I List IT

A) Cell walls with silica. symmetrical. rejuvenatory I)  Actinomycetes
spores

B) Holozoic nutrition. definite growth pattern, II) Chrysophyta
locomotion

C) Zoospores, fusion of two gametes, endogenous IIT) Phycomycetes
spores, sporangia

D) Branched filamentous. radical colonies, cell wall IV) Animalia

with mycolic acid

&1 §ob DTS 239 DBHSW.
&g -1 $45% - 11

£s

A)  RO5ANG Saslbein, FQSANS0, IS ) &SSER

Gedee
B)  &ros 8356, 9000 ARG 6S, WSS M 5998
C) A0 LA 2ezrew, Totd Dodirtizderw Swows, [II) 25 FEQ

oIS Jederen, LEEderIalo
D) a0l oo, SOEPPOPR) e alten, IV)  &oduorasgedn
KeadadndoeS Q_Jg 95 @é’)o

The correct match 1s

XOGS 2
Options :

A B C D

I IV I III
|, %

A B B D
¢ &I W I

gcollegedunias
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A B C D
., I m I IV
A B c D
v 1 II 11
4, %

Question Number : 3 Question Id : 7196501763 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arrange the discoveries in ascending chronological order.

5

Discovery of citric acid cycle
Discovery of cell

Laws of mheritance

Book on agriculture and weeds

Discovery of genetic nature of RNA

Mmoo AW

Description and 1dentification of plants

a

)& @AY, S FOEIPD NESNr 0 T°E oS @O ok.
DEE B0 S0D0 LT
E£3030 E (T e

INVINGE w@?w

> ©

S3 8P 00 Sen) Do) 0P WYL
RNA 250885850 E8T80&
B0 0K To200BDS S8 SO0 K380

< =

Options :

ALDEED

|, *

11580 8, 18

- O | L

3. %

A B CIEE
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Question Number : 4 Question Id : 7196501764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : In zooidogamous oogamy, the development of zygote into voung embryo
takes place within female gametophyte.
Reason (R) : The precursor to seed habit is seen m Pteridophytes. which 1s important in

evolution.

BYBEW (A) : 2PoE (9 S5Q) ©0ti0TIrtIaln ot Do0inEelzssn 90000 20aldeadnd’s
SNOSSD T LSNP SYB WotdD.

000 (R) : 9Sdo e5yd8 Qrdgra S GOCUUrS Edeatntuoh. JOmRRES ab
ENSVEEPU AN AT

The correct option among the following is

& $od DRYFOS LOGWISE

Options :
(A) 1s true, (R) 1s frue and (R) 1s the correct explanation of (A).

(A) 560038, (R) H600356 6050 (A) % (R) $08 2886.

I
(A) 1s true, (R) 1s true but (R) is not the correct explanation of (A).
. (A) D000, (R) S020wd 5°R (A) 8 (R) 088 26 s°a.
(A) 1s true but (R) 1s false.
.. (A) S00NS& 2R (R) S00wsSe e,
(A) 1s false but (R) 1s true.
(A) D00NISE 2 = (R) SbvcwsSk.
4. %

Question Number : 5 Question Id : 7196501765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following lists:

List I List II List III
A) Microphylls 1)  Circinate vernation I) Selaginella
B) Dwarf and long shoots 11) Heterosporous II) Nonarchegoniate

C) Jacketed sex organs 11) Siphanogamous oogamy  III) Embryophytic and

trachaeophytic
D) Flowers with perianth 1v) Living fossil IV) Dominant sporophyte
&2 50Q 2PRITPON BBLOWEN.
e I e 11 ereoer 111
A) W oTw 1) SOBEI0N ATPgRo ) Deradyr
B) &g ook lwmen 1) &) diedessotin ) 0TI O
C) ZoEosne 1) TS ol [II) &oloine P
So15°a5080aTe0 oG (92300 Sesezro0ino
D) 3000 $98 aryw 1IV) 0285 3e°23a50 IV) 2&edesdd Daowdsd

The correct match 1s
PO &

Options :

A B C D
1, 11 u, I w. IV 1. I

A B € D
i, [ v, IV 1, III 1, II
7R
A B & D
P % | v, III i1, I1 1, IV
3
A B c D
i1, I v, III 1, IV i, 11
4.

gcollegedunias
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Question Number : 6 Question Id : 7196501766 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which are the modified parts of cladophylls?

6 3)63 OIE 33 Srarotdoren?

Options :
Leaf
T NN
| % e
Petiole
- b@égoe‘ém

Branches of limited growth

- PO Sy& SN TR
Branches of unlimited growth
2 OB JY& WIR T

Question Number : 7 Question Id : 7196501767 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following lists:

List-I List-II
A. Hypogynous i ¥ Inferior ovary
B. Perigynous II. Superior ovary
C. Epigynous 111 Sepals united
D. Gamosepalous IV.  Half inferior ovary
V. Stamens free
&2 ol DEEODN BBRORG:
08381 HEE-I
A, ©olS OIS L. Q) 9068 oSN
B. 00g06is @S I1. &30} oS Fadw
C. ©0ls§ 3 DO/BI0 [  CXE0T e ©0oCingkw
D. %0058 SEEHEPSO IV. o338 ©otis ¥
V. ©008NE VPSP

The correct match 1s

OGN 23
Options :
A B C D
II v I1I |
| ®
A B C D
b II IV I I
A B C D
" I A% I11 11
A B G D
ia B II VI

Question Number : 8 Question Id : 7196501768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
gcollegedunlas
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Assertion (A) : The inflorescence begin with dichasial cyme but turns as one branch each
time, forming around the node is called verticellaster.
Reason (R) : The pollination of these plants takes place by insects called Blastophaga

and after fertilization the whole inflorescence become a fruit.

QBB (A) 1 QDR VTP ESW DYTP0N ABYSorP Goks BT &S TR VBB L)
08 S YENERR) SORLPHE ol
0eas0 (R) : & 3008 0 g Tarrr o0& $do¥o @ego° DORIR00E) S0 233D, Dubideo
BTIB YR VTEFVe WoT® DT PG,

The correct option among the following 1s
& S0l DRYFOT DO

Options :

(A) 1s true, (R) 1s true and (R) is the correct explanation of (A)
(A) S00WIK, (R) 000056 00NN (A) 50 (R) 08 280¢.

| B
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)
(A) 200WI&, (R) 0000w 5°Q (A) 50 (R) 005 0508 5°¢0.

2. %

(A) 1s true but (R) 1s false
(A) 00S& R (R) 0OansSs soiv.

3.¢

(A) 1s false but (R) 1s true
(A) D0ONIE W R (R) ROoIH.

4 R

Question Number : 9 Question Id : 7196501769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Choose the mcorrect statement.

A. In sporophylls of pteridophytes. the sporangia are seen on the margins of the leaflet.
B. In the water hyacinth. oxygen is stored and leading to the death of fish.

C. In Chara, male and female reproductive structures are on the different plants.

D. The mass flowering by Strobilanthus kunthiana blue stretches are seen on tracks by

hilly areas of Tamilnadu.

QOSR T°ga° gD (WOowIW.

A. BOEPE S0t HE eI HTFTL Bov S dederan DG YETPaw.

B. A8a%; Sot e8yzs QUHaine S0, 300 $ygeH% mroSueb.

C. 5707 3ol Q9 QWX ROFBHS AT% P JOJ 08 OD GolIow.

D. %92)erodd Ho3almme 3nE) o DR YSPHU SO STTE FooPo ol
STrme O A0 oS Edeakiarow.

Options :
A. B only
" A, B &g
B. C only
i B. C &gl
C.D only
- C,D g
A. D only
i A, D S

Question Number : 10 Question Id : 7196501770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Choose the correct statement among the following:

A) Endothecium with radial thickenings lose water and contract, and help in
nourishing the developing pollen grains.

B) In Helianthus ovules covered by single integument.

) Production of unisexual flowers prevent self pollination in castor.
D) Filiform apparatus guides entry of pollen tube.

E) Zostera a fresh water grass shows pollination on water surface.

B0 PR HOT® PAR (0QowSW.

A) Dol BRONT'R Ferew 72 gPTorP PO oL ¥, AR §°S’ yow S0,
DO°HI0R)L W2IBYRS AR DWPTELD VTDT® Dol

B) POV S0l Vot ¥ WoliSSWoes” S0 )G Hotrow.

C)  LS0ES0 DEDoBE DArIL GBS Fito SO LehHTE Doy S
QT Dodetol.

D) G000 DOETSN DOITPY Da3d IPTPR) AOBWR.

E) DDA (GE0E), VoS &DOP ol ALY e’ 230 DTP(I0eDT, S0 23820,

Options :
A. B. C only
A, B, C Srghad
|. ¥ e
A, C,E only
ACE oﬁj"é&b
7 &
B. D. E only
.. B.D.E&rgd

B. C, D only
B.C,D Jrdl

4.

Question Number : 11 Question Id : 7196501771 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
gcollegedumas
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What 1s the correct arrangement of the following parts from the lower end 1n a monocot

embryo axis”?

A) Radicle B) Scutellum C) Shoot apex
D) Epiblast E) Coleorhiza F) Coleoptile
G) Root cap

DESTEIR BoEosS §ob oD HO ERIPORD HOBANS SHD E0t’ @SB 0?

A) SIANVINIVIINGY B) 0P, E3Qen C) VP0G §
D) 00050 E) a0rerodd Soud8e  F) oS00 Eodo¥aln
G) SE0eS° %0

Options :

- EBCADEG

AL B GILEF

7w

b G A DO F.B

3.

EG DAY B C

Question Number : 12 Question Id : 7196501772 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following lists

List-I List-1I
A. Genera plantarum L. Theophrastus
B. Species plantarum II.  Bentham and Hooker
C. Historia plantarum I1I. Hutchinson
D. Families of flowering plants IV. Linnaeus

V.  Engler and Prantl

&2 808 DI BBHEB0G:

De3E-1 HEE-IT
A BI0° FolIE L Qorgrdd
B.  &)%8 Protido I Dol & 356
C. rYO0N Potibon M. $25%8
D. 2ol edgstefigedy IV, O3a0s
V. Qo6 & rotaS

The correct match 1s

DO 2%
Options :
A B C D
II IV I A%
|, #
A G-

I I 11 v
3. ®

A B i D
IV I \4 i}
4, %

Question Number : 13 Question Id : 7196501773 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
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Match the type of fruits with the following listed plants.

List-I List-II
A) Arachis 1) Capsule
B) Datura II) Pod
C) Asparagus III) Geocarpic
D) Pisum IV) Beny

V)  False fruit

& §o0d &) Seotedd S8y L AN, AN Derw Trued” 2BDESD.

P2 Te-1 ereTe-11
A) &0°0 I) 9%
B) Py 1) & JRWEO% Do
C) &0y O 0 II) eraodaw
D) 20 IV) 000080

V) sy Heoso

The correct match 1s

LOGI 23
Options :
A B C D
" III | 1AY II
A B & D
111 I V IV
2.9
A B C D
P o B I
A B & D
II I11 IV V
4 %

Question Number : 14 Question Id : 7196501774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
gcollegedunlaa
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Correct Marks : 1 Wrong Marks : 0

Choose the correct statements.

A) Polar molecules cannot pass through non-polar lipid layer since they require carrier

proteins.
B) The plant cell vacuole plays role in osmoregulation.
£ Golgi apparatus 1s the site of synthesis of proteins and glycolipids.

D) Plasmid DNA shows resistance to antibiotics.

E) On cell maturation, secondary wall 1s formed as deposition towards the outside the
primary wall.

RO P3P (000w,

A)  BYSiGo FOS madhHn dyd V3Erde WD) ONG S wriTe OB oS
% P 05000,

B)  Sy& St G8¥wn $aradddn KOS PG SFRrow.

C) O 00800, Fedab 000N 05 OLG & 28 So@si.

D) 28 DNA, OrEetSTrdrosd AEWES Sr).

E) Zeacin SEGEN) DGR, HISADEIUNIN PERE ELlaln IR0 IR Jwrgrw

D980 3¢9 08 YEID.
Options :
A, B. C only
. ABCIrgS

A, B, D only

- A.B,D &gl
B.C.E only

. B.CESrgS
C.D. E only

= C,D, E &g

Question Number : 15 Question Id : 7196501775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
gcollegedumas
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Correct Marks : 1 Wrong Marks : 0
Assertion (A): Lipids are separated into the acid insoluble fraction along with other
polymeric substances.
Reason (R): Cell membranes are composed of lipids and are not water soluble.

Hence, form as vesicles along with acid insoluble pool.

QBYOIW (A) : O IO 2°r geawd DWPTPULS” Pl sl VWPSE 0D 27°(ieS'S
SG0R0leudTPow.

080 (R) : Sadguren @aaéb FO0 &olitoo S0, B AT EiIa)). TP Lo VESEION
050" 5503 Saurr 8 yEeraw.

The correct option among the following is

& S0l DRYFOS LOGWSR

Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)
(A) 2003, (R) D008 0605w (A) % (R) 208 wdd¢s.

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)
(A) 20038, (R) 209008 5 (A) 50 (R) 388 2888 s°0.

2. %
(A) 1s true but (R) 1s false
" (A) V0o 2R (R) SO0NIR .
(A) 1s false but (R) 1s true
(A) J020S& 280 R (R) 0020000358
4 %

Question Number : 16 Question Id : 7196501776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The chromosome number of the potato gametes is equal to double the number of the
meiocytes of housefly and thrice the number of meiocytes of fruit fly.

What is the haploid ratio of chromosome number of fruit fly. house fly and potato?

20PN NeCir) 2iEaD §aPTU Jog, S LAWLOL §arFae Do) Rogih
DS3eeSo S00GK HPE P WAWDEL §'APPHO Dewgh SPEDLK e,
G R, Satl, WelPTLiow ot DEVAE §AFAFHO NS Joth?

Options :
24:4:6

|, ®

, & 014524

a i 4:6:24
1 232 &3

4. %

Question Number : 17 Question Id : 7196501777 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Identify the tissues based on the following characters respectively.

I) a cell thickened corners by deposition of pectin, hemicellulose

1) phloem i1s present on either side of xylem separated by cambia

III)  cells with waxy thick layer preventing water loss

IV)  protoxylem towards centre and metaxylem towards periphery of the organ

A) Epidermis B) Collenchyma C) Bicollateral vascular bundles

D) Endarch E) Exarch F) Endodermis

VS LETFPL S0P EeaPerroad (L00uWSW.

) SeP0 PO VIR, TFNINIS VS BEJBI Holrow.

I1) @) AT FREEFL0 Gl VETPRY STPEPW P WONWE a)otwol.
[II)  &eren oo Sold Dotdads FOR A SPR) AG@Fow.

IV) 08 wrloe)) Solo Ja)80, ©9oB3wrlue) ol J¥0 S0 ePrPw.

A) 20°drg wWdyo B) LS tsEeE Lo
C) QYOOI 808N D) o0 LWNTEe
E) ARV RSTARV AL OV F) ©oBEN0 S50
Options :
I 11 I 1AY
B C A D
1.
I I1 [T 1AY
B F A D
2. ®
| I IV
i 8 B F A E
I I1 III IAY
w8 A D C

Question Number : 18 Question Id : 7196501778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
gcollegedunlaa
India’s largest Student Review Platform
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Match the following lists
List-I List-11

A.  Spring wood L Phellogen, Phelloderm and Phellem
B.  Heart wood II. Xylem vessels with wider lumen
C.  Starch sheath III.  Highly lignified secondary xylem
D.  Periderm IV. Endodermis
V.  Pericycle
S2 S0l DEEUD wBRONk:
HE38-1 &SI
A SO XS L Q330D aragind?, OISl de) 0k SO0 2ot Stz
B. @080 I  SEer )8 @lse35od $O5 @rly IPew
C. 2ok el HI. easrr Of) S8 Howans) S HIBob wetvad)
D. 208880 IV, e0oddydysw

V.  H0%8E30

The correct match 1s

DOCIRS 23¢9
Options :
A B 6 D
III II IV |
.

D
I II V IV

) ®
A B L D
I1 I1I I JAY

3 %
A B C D
11 I11 IV |

4.«

Question Number : 19 Question Id : 7196501779 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The term “Ecosystem” was coined by:

35060 SN0 WD VW) VIFEdSTeCu:

Options :

W.M. Stanley

WM.
1, %
T. Salisbury
T. ¥OJe0d
2. %
R. Mishra
L xR
A.G. Tansley
A.G. &PNT
4.4

Question Number : 20 Question Id : 7196501780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct statements:

A) Submerged macrophytes release oxygen and enrich dissolved oxygen in water.
B) A single mature tree can absorb 68 lIbs CO; per year.

C) Production of fuel plants 1s an example of provision services.

D) The aesthetic value of a place is considered as regulatory service.

OGN TPgaR O (WQoUIW.

A) PP SEIS” S0V, WL S8 L0 B8 20 AL WO T T® KIS 500 D)
38312200 RowwTPOw.

B) QPOTP 2RO B0E) , a8 Vo0 e’ 68 1bs CO2 D 320,

C) S 08 © &Y YS JGHL Grd VSN wf swrrde.

D) o D% Solid Folily HNSLD Dowiids JT°YEPe) S BSF BB,

~

T

Options :

collegedunia:s
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3. ¢

A, B only
A, B S

C, D only
C,D g

A, Conly
A, C gl

B, C only
B, C g

Question Number : 21 Question Id : 7196501781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct statements.

Concentration gradient must already present for molecules to diffuse even if facilitated
by proteins.

A seed may appear dry as it has no water.

The absorbance of water by corn plant 1s 5 liters in a day.

Numerically osmatic pressure is equal to osmatic potential with change in sign.

Transpiration 1s affected by root/shoot ratio.

OGN P3P (000w,

-

E,

P DV ONeed” D00 2EHT® SPE WoBB0S00R MPETPOSES S NG DGR,

QBISD FEIP &olidrS 520810 TS A8 SEFHEI.

008y 28" Sy 2l S 5 OLQ AR Ly Bootwel.

Noarg0orP Qa0 wlendeidd, WaPRN0en 58N DaiPdadd @oWNRYES °ed Doz

.
I3/ otio AR WP YD), VearIBo WPow.

Options :

~

T
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A.B. C only

= A B, C g
A. D, E only
o A.D.E g
B. C. E only
il B, C.E g
C.D. E only
" C,D.E &g

Question Number : 22 Question Id : 7196501782 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the mismatch

RO RBR PR (VOoNk.

Options :
Magnesium —
- 001y Q000 -
Sulphur -
. O NS —
Manganese —
ofid —
3.
Nickel -
Q8S —
4. v

Respiration, photosynthesis. DNA/RNA synthesis.
RSO0, $0ezSg00adr(iS0, DNA/RNA Qodieasin

Cysteine, methionine, thiamine

DVS, NOTIPAS, PODS

Photosynthesis, JAA oxidase, Nitrogen metabolism

8Ceazeadg00airiSON, TAA wdyGa, SSu sS8050

Urease, nitrogen fixation, cytochrome-c-oxidase

ANOTHE, 2R PRI, VTS o-c-wsSyTm

Question Number : 23 Question Id : 7196501783 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

~
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Assertion (A) : Exothermic or endothermic, the substrate has to go through much higher
energy state or transition state. The difference between energy content of
‘S” and that of the transition state 1s called activation energy.

Reason (R): Inamultistep chemical reaction, each step 1s catalysed by different enzyme.

B0 (A) 1 HBcIrSE So FTErs WSz 65D Hargesn D80S 8 1S S
ES0D05GS PO 0P SO T, 00 # DS ‘S’ S EHHOSSS
DS NG (o PEr) e 4§ wotrln.

sOmsn (R) | wGIOR0S SFaS HSSG5H HAGIS’ D) Do &dy90e0

ﬁ@“nﬁ){)@m.

The correct option among the following 1s

& S0l DRYFOS DO

Options :
(A) 1s true, (R) 1s true and (R) is the correct explanation of (A).

(A) H600038, (R) H080080 6050 (A) % (R) $08 8.

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A).

a2 (A) 30200I&, (R) S000IL R (A) 3 (R) 00 2808 sav.

(A) 1s true but (R) 1s false.
(A) oo 2R (R) SEowS& sP.

(A) 1s false but (R) 1s true.
(A) Q0oL 260 R (R) SOonSk.

Question Number : 24 Question Id : 7196501784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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How many ATP and NADPH molecules are required for the synthesis of 6 molecules of

glucose in photosynthesis?

508ae2SgoCirtiSONG” 6 (IrSs Lo SArOS AN ATP SHoaknw NADPH

LWL Doy woh?

Options :

18 ATP and 12 NADPH
18 ATP 000w 12 NADPH

36 ATP and 24 NADPH
36 ATP 0w 24 NADPH

76 ATP and 108 NADPH
76 ATP S6aix 108 NADPH

108 ATP and 72 NADPH
108 ATP 0005w 72 NADPH

4.

Question Number : 25 Question Id : 7196501785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If 12 molecules of CO: are to be reduced. how many molecules of Glyceraldehyde 3-P are

used for the regeneration of RUBP 1n Calvin cycle?

12 ashen CO2 5050808 Delnai SO0 SOl olag_ BAHL Quordare 3-P w
RUBP a)38000es0 RAOIT(IGeIn ?

Options :

|, *

2.

10

20

)
=

~

T
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Question Number : 26 Question Id : 7196501786 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct statements.

A) The reactions catalyzed by pyruvate dehydrogenase require several co-enzymes.

B) By two successive decarboxylation reactions. 1socifrate 1s converted to
a-ketoglutaric acid.

) Oxidation of respiratory substrate energy is released in bulk and utilized for other
reactions.

D) During the breakdown and synthesis of proteins. respiratory mtermediate form a
link.

E) RQ represent to ratio between CO» liberated to O, absorbed during respiration.

POV TPgaTP D (WO,

A) RIS Earges Su a9 0SHahy SOIUS B HTPVoB0w @80,

B) Soled G5°0°) 8 SRR WL wiborP FUVEE -5 PO eadorr drrdodod.

C)  agR80H S0Sarore) esdyE0t BobRi #4 6ot APe HIimSure GO I8
WOZLR LACIPHeWACID.

D) e Doges SHOCHN 3o 2300108 )00, €3 Sodg 3°SON surdgans ed)Te) W
K0800&0 oI5 YERFOW.

E) RQ 9038, 2E&SS8 CO250, &0airdHowentes 0250 (v Q).

Options :
A, B. C only

. A. B, C Jrglo
A, D. E only

o i A.D.E Srgd
B, D, E only

‘il B, D.E Jrgl
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C.D. E only
C.D.E Seg

4.%

Question Number : 27 Question Id : 7196501787 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

In a tomato mutant plant. it was observed that succinic thiokinase enzyme is lacking. What
1s the requirement of glucose molecules to release 1152 ATP for its other reactions in the

presence of Oz environment in this plant?

EB105GS0 DodeS 88 €T XTES" ¥y ¢ 8108 HAPTID Do BER VT, & 308y &S
DOOS SBgn BEHEPIS, 02 HOVGS' 1152 ATPOKD AL IOHAPS B0 NS

(r$°88 ©a0DO Dogrd SU ok,

Options :
24
| %
48
2. %
96
3.8
P 36

Question Number : 28 Question Id : 7196501788 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Arrange the auxins, gibberellins. cytokinins and ethylene in a correct sequence depending
on their physiological activities given below.

A) Production of new leaves and chloroplast

B) Xylem differentiation

C) Internodal elongation 1n rice plant

D) Delay in senescence

& $00d 9 et @8 )0wW), 2220 )TYDW, VESTIADW HOAKN DEON 00 B8 oL waedorP
TR DB SEHES0S’ 98306,

A) £ herw, 66 Smahen Soir6s

B) OVIEERIATNAGY

C)  £0 B0 Sk D30 s oSy

L

D)  POsgR) &0zt

Options :
D,A;B,C

1.-

A,C,B,D

2. %

B,D,A,C

3.¢

B, A D, C

4. %

Question Number : 29 Question Id : 7196501789 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~
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Match the following lists:

List I List II
A) Leeuwenhoek I) Link to infections disease
B) Louis Pasture II)  Description of bacteria
C) Koch III) Comed the term bacteria
D) Ehrenberg IV) Chemical factories
&8 8ol DEELD BBIGWSN

Q&% 1 &% 11
A) 3558 )  ©0tuargloold Qoo
B) wrows rdyo II) 2r5005° SO
C) = III) 20°S005° @ PSS Fresleno
D) Q@a&,wé IV)  GrQQE Somyrroren

The correct match 1s

OGS 285

Options :

II I11 I IV

[, &
A B E D
P ! II II1 IV
2.8
A B ¥ D
III IV I II
3 R
A B C D
II IV I I1I
4. &

Question Number : 30 Question Id : 7196501790 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
gcollegedunlas
India’s largest Student Review Platform

Correct Marks : 1 Wrong Marks : 0



Match the following lists.

List-I List-IT
A. Polio L Mortal human disease
B. Ebola II. Do not result in death
C.  Hepatitis I1I. Physical weakness
D.  Oncovirus IV. Cancer
V. Beef

& 8o HEELD BBHOBoG:

0GE-1 weos-11
A oo L SrSehaes” Sder), Sodosu
B. efv L Sdee)y, Sodosd
C. rIEEQ OI. 300 eowdrde
D. oS30 IV. 5880

V. ) SPodem

The correct match 1s:

QOGN 285
Options :
A B ¢ D
111 IT I V

I I II V

2. %
A B i D
III I II N

3. ¢
A B L D
II I11 I JAY

4 %
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Question Number : 31 Question Id : 7196501791 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Match the following lists

List-I
A. Phenotype
B. Genotype
C. Allele
D. Locus
&2 S0l DEED 238 VOIS,
0&E-1
Al Q)3glrasn
B.  2g0roan
C.  aluiiyosoyEasw
D. »ISw
The correct match 1s
OGS 23
Options :
A B &
i Vv II 111
A B C
. \% 11 II
A B C
- IV I11 I

0

IT.

III.
IV.

V.

List-I1
Position of a gene on the chromosome
Genetic composition of an organism
Alternate form of the same gene
Distance between two genes on the chromosomes

External appearance of an organism

HEE-IT
§'SPYF 0 2dg PN
RS AN VIRON VO W
o 8282308 GI), DO BPHSR
§'aP Y0P Colid 28DV a0y G GaS0

255D aav‘f.J“g L& &30
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\" IV I I

Question Number : 32 Question Id : 7196501792 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : When two genes 1n a dihybrid cross were situated in the same chromosome,
the parental gene combinations is less than nonparental combination.
Reason (R) : The experimental evidence of chromosomal theory of inheritance led

to the discovery of sexual reproduction to variations.

QBYBIW (A) 1 B0E0E PAPHS” 28 §arPene” 0ot 2L &) W TV BIES
BVYLETTD BISSO SLows §T°) BBy &P aHolTPow.

5060 (R) 1 §IrFene 05088 Aweed LAIrrd, § DOIUIW, Juergush ewrdo
SoNS' BB O ST Jebol.

The correct option among the following is

&2 S0l RYFUS JOTNIL

Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) 5600038, (R) H0800056 $00%0 (A) $ (R) K0S 286,

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)

(A) 56090038, (R) $600036 =0 (A) K (R) H08 86 5.

(A) 1s true but (R) 1s false
(A) S0oWNSR 52 (R) D00wS& 0.

3. %

(A) 1s false but (R) 1s true
» (A) 00L& W 2D (R) DO0RSH.
4.

Question Number : 33 Question Id : 7196501793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

~

T
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Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

E. coli bacteria is grown in a medium containing "NH4Cl for few generations and later
transferred into medium containing *NH4Cl. When samples were taken and analysed after
60 min, what will be the ratio of light and hybrid DNA segments on CsCl density gradient

separation.

o). ST wr§00ru® PNHYCI o airdses’ §9) doren 8o B0 dores “NH4Cl o
Q%o D8 070 ) Dovdd 200NG. 60 QWP S0P TP SFTPOD V8GR CsCl o
SRGD IIL DOFVoISYE AT &) DO¥ OGN Vo80 DNA @obdrw QS
ST 030,

Options :
6:1
1, %
.
2.« 3:1
32
3 % D . i
1:3
4. % =

Question Number : 34 Question Id : 7196501794 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Lysine and Arginine are rich in histones and carry positive charges in
the side chain.

Reason (R) : Prokaryotes DNA is circular and referred as genophore.

QBBI0 (A) 1 rYFOUS” T, SOOI ©LIT ool o D) TUUR BTPITLD
20089800V oN.
5°0ea0 (R) 1 So@SQrog 2a)0S" DNA SE0erseSorP af)ols 255 DO Hdeatodod.

The correct option among the following 1s

&2 S0l DRYFOS LOGRIR

Options :

~

T
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(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) 560038, (R) H0©0056 $H00%0 (A) § (R) $0S 286,

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)

(A) $060058, (R) H00nsd 29 (A) § (R) H88 98568 6.

2.«

(A) 1s true but (R) 1s false
(A) S00WI& 2R (R) Soaws&h sen.

(A) 1s false but (R) is true

(A) DoLoWIR 5260 = (R) SdwonsSk.

Question Number : 35 Question Id : 7196501795 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Match the following lists:

List I

A) Template strand

B) Location of promotor 1) Faba beans
C) Okazaki fragments 11) Transcriptase

D) Taylor experiments iv)  5'-3' polarity

ListII

1) Before structural

gene

&t S0 2FR)TPON BBOONLW.

e |
A)  rJDl

B) oardb ¥rdo

C) aers P&

D) &wd Jairrren

The correct match 1s

OGS 2385

Options :

A B
1, II 1, III

A B
- i1, I1 1, I11
A B
i1, 111 1. IV
3. %
A B
v, 11 n Iv
4, ®

ereoee 11

1) Q0PLE Radga)V

NSVITAY]
1)  Jree D80y
i) S5
V)  5'-3' Sydedgo

(@ D
ut, IV w. 1
C D
v, IV 1. I
C D
| v, 11
55 D
1. 111 1, I

List ITI

DNA replication semi
conservative mode
DNA with 3'-5' polarity
5' end of coding strand

DNA ligase

er2der 111

8085 DNA HS%yS
RTINS

3'-5' Gyddgofv DNA
Vo8B ard 5' 87
DNA ot

gcollegedunias
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Question Number : 36 Question Id : 7196501796 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The genes 1n the plasmids encoding resistance to antibiotics act as:

PRYENTD GollwdirdiSy WG GE $50 Wra agahn €2 Dlorr SgirOFromw:

Options :

Source DNA
DNA Sreo

Selectable markers

FORIR Ao IN 65»3"('5275‘3
L.V
Site of origin of replications
DNA D& o
3, % i <~
Cloning site
§ o Pdo
1. © @

Question Number : 37 Question Id : 7196501797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the chief enzyme that is involved in PCR technique.

PCR oSS Qurang g’ Qa0 2o (8oWok.
Options :
Restriction enzyme

. 5:33?5{&5 Jogﬁa
DNA ligase
DNA &3

1.5
Hydrolases
FEes

3. %

collegedunia:s
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Tag polymerase

dﬁgﬁ FO0R

4.

Question Number : 38 Question Id : 7196501798 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Plants are used as biofactories or bioreactors for obtaining specialized
medicmes and antibodies by molecular farming technique.

Reason (R) : Early diagnosis of disease can be done by PCR technique.

QBYBEW (A) © S0 O SOOI T 200IrOAITFECNT PG DTS DolUD,
VSOLTON VW VWIVW° o WP IT° o) K.
500 (R) : PCR ro8SE Sarsdo @ego 't dwednn wPw 50008 Wol&uioy~D.

The correct option among the following 1s
&2 S0l DRYFOS LOALIE

Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) 560088, (R) H000S6 00k (A) % (R) 588 as66.

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)

(A) 2020038, (R) 200038 520 (A) ¥ (R) 008 2808 6.
2. ¥

(A) 1s true but (R) 1s false
(A) 20908 2 (R) D000 5°6.

3.9

(A) 1s false but (R) 1s true
(A) S0oNS& W R (R) Nbvcndk.

Question Number : 39 Question Id : 7196501799 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~
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Choose the correct statements.

A) Usually only one in few hundred to thousand crosses shows the desirable

combinations.

B) Classical plant breeding involves artificial selection and genetic and molecular
biology.

C) Evaluation of breeding lines to be done 1n several locations and seasons.

D) Jaya and Ratna rice varieties were developed in Philippines.

0 TP AT (80w,

A) Ferdaorr Q) Solo o JO VoSG 22008, 2.8 WS G TPodA0NZ
LETEL EQLFOW.

B)  areoeddaod dnd e Dassess’ Eyd $ito 500060 6y ©mets 390 GHEIFHRC.

) RoE0ENrU 3N DG LETUS LWNEHVT BIYTW.

D) 200 H00kn 08), £0 U5 H0PNT @ullyd IFd.

Options :
A.Bonly
A, B &5oeghd
| % e
A, C only
- A, C g
C.D only
. CDarg
B. D only
B, D &5e¢dad
4. % -

Question Number : 40 Question Id : 7196501800 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match

A)
B)
C)
D)

& §p&

A)
B)
C)
D)

the following

ListI
Without distillation
Distillation of fermented broth
Bread making

Bacteria

QB0 2BOOWG:
L85 1

@S0 SHoo

Seagdo WS PO VYWo

T& Sair0

vglelevny

The correct match 1s

LOGS %
Options :
A B C D
IV I11 I 11
[, %
A B L D
I1I A IT I
? ®
A B 5 D
II I II IV
3.8
A B C D
IV I I1 1T
4.

List IT
I) Rum
II) Bakers yeast
IIT) Swiss cheese
IV) Wime

008 11
I) S
D 556y &3
) g ),
IV) &

Zoology

gcollegedunias
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Section Id : 71965037

Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40

Section Marks : 40

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 71965037
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7196501801 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : ()

Tilman’s experiments with outdoor plots revealed:

i STod’ B 26D DOFEIW BAL LrdFow

Options :

Plots with more number of species showed higher variations in biomass

EGoSOOE 2L &) 0ND TSNS &S B3T3 RS PG O
 SIDB00d

| %

Plots with increased diversity contributed to higher productivity

20 P30 I8 SFD ZEPL OOY SEPYEDH ELREHEETON
19

Plots with more number of species showed more variations in productivity

OO 2L (L TPV GEPNOESES' )50y 8 STE YLD DEOIFOW

3. %

Plots with more number of species showed more variations in biomass year after
year

O0¥ e KU EGPW JodDTo GO DodBY0VS SRS50°BS B0y
NVEVALSIRSalohh Je V)

Question Number : 42 Question Id : 7196501802 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Assertion (A) : Species 1s a breeding umnit.
Reason (R) : Closely related species of a genus can mterbreed. but they generally

give rise to sterile offspring

BB (A) 1 2D el DS Daeeso
dgie (R) P 28 0o K0 Dozdotio t0 2ehen ©od: Daddo 230DSWY. °
PLPOTP °E3S 300 Do 550(:5501‘.'?’ &oClold

The correct option among the following 1s
&1 508 DAYFOS” DOGLSH

Options :

Both A and R are true. R is correct explanation for A

A 30050 R Qa2o. A SR D05 D586

Both A and R are true. R is not correct explanation for A

A 30050 R Q2o. A S R 00 050688 760

<

A 1s true. But R 1s false

A Qzo. 50 R 2o 30

A 1s false. But R 1s true

” A Q2o 3. 3w R 2o

Question Number : 43 Question Id : 7196501803 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Ciliated epithelium 1s found in

BOTOON &N &ols GTFTPLD

Options :

Bronchioles and fallopians tubes

v FLOTPEN, :Peg"s:o:ﬁsé TOTEED
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Fallopian tubes and pancreatic duct

:Dveéﬁéaaﬁé PN, g‘@éx} oo

Bile duct and fallopians tubes
VBBV o, PG DODM TEFEL

Salivary duct and eustachian tube

PRI, wgaoﬁﬁ T°¢o

Question Number : 44 Question Id : 7196501804 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Study the following statements:
L In fibrous cartilage. perichondrium 1s absent.
II. Os peanis 1s a sesamoid bone.

I11. The ratio of RBC to WBC 1n human blood 1s about 500:1.

IV.  Eosmophils secrete heparin and histamine.

T AL DY) @ég&imo WOLet.
L 500509 533&53@@@5‘ 20 ma@w@ Golelt.
I1. SO VAR VDSTPONE WS0E

ML Sesas SotS’ o) 6 Een, BY 8 S0 SR)B K0STore 500:1.

IV. 8050 e PP, SRR O DDFOW.

Among the above. identify the incorrect statements.

2 RIS VO ©odPe (00odol.

Options :

L LI

1

LI

2. %

o LIV

s ILIV

~

T
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Question Number : 45 Question Id : 7196501805 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following:

Arthropod
A.  Limulus
B. Sacculina
C. Scutigera
D. Aranea

8o PR 2369 DGk
SO>E
5

A Dalyy S5Y)
B. €°$b§ e
& rtfvg. &lSoe
D. JJ3oalr

The correct match 1s

OGS 23¢9
Options :
A
IV vV
(.
A B
I IV
2. %
A B
I I
3. %
A B
4. ¢ - -

II.
I

III.

V.

Class

Chilopoda
Arachnida
Diplopoda
Xiphosura

Crustacea

23S0
SSFe

©U°S) &°
G
28F PO

EhR0%"

i)

Question Number : 46 Question Id : 7196501806 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

~
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Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Follow the statements given below

I Haemoceol 1 arthopods 1s around gonads and excretory organs.

1) Haemoceol m molluscs 1s around kidneys, visceral organs and gonads.
1)  Coelom m echinoderms 1s modified into an ambulacral system.

IV)  Functional body cavity in annelids 1s the secondary body cavity.

S0l WL BT WAkols.

I) @B IrE 08° 68 Do DaE T, DIFSIDT VD WSHBD) Sotwod.

II) ﬁ;ui}bt)@‘ 68 L0PG0 SrSDOGETLD, oSG, DS TPORD 880D
&0LLOR.

o) IPSEE S VS0 oanSED S35 (P Eraretiodoel Gotol.

IV) ©30Gees” S5t B3 5o5rde HIBOH 06 Koirse.

Find out the correct statements from the above

2 3°¢3eS" DB WoFoLN.

Options :

Only I and II are correct
L II Soeghad

.

Only III and IV are correct
III, IV Srga

R

Ounly I IT and IV are correct
L IL IV Soegho

3. -

L. II. IIT and IV are correct

L L TY
®_

Question Number : 47 Question Id : 7196501807 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Assertion (A) : Archaeoptervx lithographica is a connecting link.

Reason (R)  : It possesses reptilian and mammalian characters.

D3 \Bo (A) @ 0,at?08) EPDS® w8 VT DBV
so6c0 (R) @ @b 2800 0Erroly, 266 vLrrol $9A Gotwod

The correct option among the following 1s

&t S0l DAYFOS DOGSE

Options :

Both A and R are true. R is correct explanation for A

A 28030 R Dazo. A 8§ R 18 Dd6es.

Both A and R are true. R 1s not correct explanation for A

A 508030 R Qao. A $ R 2383 D66 s°¢0.

A 1s true. But R 1s false

S A Q0. 57 R Q20 5760,

A 1s false. But R 1s true

L A Do 2. 500 R Axo.

Question Number : 48 Question Id : 7196501808 Question Type : MCQ Option Shuftling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

~
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Study the following:

A) The earliest tetrapods with metanephric kidneys are reptiles.
B) The earliest tetrapods with columella auris are amphibians.
C) The only tetrapods with sclerotic plates are birds.

D) The earliest ureotelic tetrapods are birds.

$00 WL VWD WAol

A) Wog 535 P otren SONS WD WP YW DOJYIPL
B) §0002)8 $ONS DA P yloww &2Ial Sorew

C) DEIR0 078 DU SN 208 208 WP YW DD

D) 20 CrOrEIOS Sehuap ythen VoW

Which of the above are true?

2 PES D0 Vo (DOl

Options :

Only A and D
_ A, D ared

Only A, Band C
A, B, C drg
2.¢

Only B. Cand D
B, C, D &g

3. %

Only C and D
, x G Darg»

Question Number : 49 Question Id : 7196501809 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~
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Study the following statements:

Statement I : Infraciliary system and motorium form the neuromotor system m
ciliates.

Statement IT : The binary fission in Euglena is called homothetogenic fission,

because the daughter euglenae are like mirror images.

DOFSIST 1 DDCRES 0" D) 3V H(HR, eTBoSod DD TE TS
2Ofe%) fi)dbc‘ae:’im&.
o
DEFSISI 1 alrfor & 200 AITANSS AENE DY chrHrey E8Ye O
WoETPOURTT GolIPON 22063 TPAQ ¥ A° B &S DS ©oltr

The correct option among the following 1s
&2 508 OR)YSPOS DOANIR

Options :

Both statement I and statement II are correct

DOFES 1, YOGS 11 290D

Statement I 1s correct and statement II 1s wrong

DBPES T 2BHO. T2 HAFES 11 DFHS T2

Statement I 1s wrong and statement II 1s correct

OBES 1 DBHO T, T2 PAFEGS I 23D

Both statement I and statement II are wrong

OBPSSN I, HAFESS T 2FID T

Question Number : 50 Question Id : 7196501810 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The vigour and vitality lost due to repeated binary fissions in ciliates is restored by

0938 AT DD G I DAL §S oD BIVBLD, AD(Do VR & Sod VA

~

T

orqo° 98h otLTPON
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Options :
Conjugation

‘é)ootinﬁ&u
1. ¢

Syngamy

| R0a30g Dodir(io

Multiple fission

Ao Ta K)ri’))efa
3. % b=

Sporogony

‘:Jeﬁnb

4 %

Question Number : 51 Question Id : 7196501811 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Plasmodium causes hypertrophy of red blood cells in man.

Reason (R) : Number of red blood cells increase in human blood due to Plasmodium.

DB)Bo (A) : FHLEODo S0 SPSH X T LTS 306 57D Ssotiod.
s0to (R) 1 SR Go%o S50 SIS G5oeS” R 85 S Domdg DENIRR.

The correct option among the followmg 1s

& 806 DDYFOS DO

Options :

Both A and R are true. R 1s correct explanation of A.

A 50050 R Q2. A § R D08 a58¢€s

Both A and R are true. R is not correct explanation of A.

A 50050 R Q230. A 8§ R 00 2888 S°¢0.

2
&

A 1s true but R 1s false.

A D220 0. R Q2o 5°60.

~

T
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4,

A 1s false but R 1s true.

A Q230 . U R 2.

"

Question Number : 52 Question Id : 7196501812 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The following are related to the life cycle of Wuchereria bancrofti. Airange them m

correct sequence.

I) Female Culex. IT) Microfilaria larvae
IIT)  Sausage shaped larva IV)  Noctumal periodicity
V) 3 stage microfilaria

&300Q° 87057 A STV DobeS $obd TPEID HECNS E006S’ BSEN0E.

D e b D) S PO Goalsen
) Pz a8 Goaddo IV) o a8l
V) 38 8% DSpooasr

Options :

bl

ILIV.ILLV

w

OLIL IV, LV

LILIL IV, V

ILIN, LIV
%

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~

T

Question Number : 53 Question Id : 7196501813 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Follow the statements given below

I) Sleeping pills contain barbiturates where as sleeplessness 1s caused by
amphetamines

II)  Hallucinogenic drugs can be obtained from Atropa belladorma and Datura.

III) Chemicals extracted from the Indian hemp plant have receptors in the brain.

IV)  The use of anabolic steroids by female sport-persons regulates menstrual cycle

S50ld oL BEg0oido WAl

I) G SPBOS” 27005 50EN GotIPOW. BodEITOVRD PP

I)  gPoB38 06D oS0°ed¥ (argen) edfa aTET, e ok VEOFL

) 2°0 aro %) ol DEOULNC SPONTPOR [PIPSPLL SuEEES” GotIPow
IV) OS5 QUPoNGERR) S08re SEPsPiue TG PO Soh) w580 $a502085e55" 800

Find out the CORRECT statements m the above.
2 235" 0B WL (000l

Options :
Only I1s correct

I Sl D038
| ®
Only I and II are correct
I 2080s0 IT S D05
2. %
Only I II and III are correct

I, IT codasw T S 085
3. ¢

I. II. III and IV are correct

, L ILII &0dain IV DN
4.

Question Number : 54 Question Id : 7196501814 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Palpiger is a part of

FONRE BIS
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Options :
Labmum of cockroach

&5 Q¥ Q00
.@y‘? -

Labrum of cockroach

25508 b

bt

First maxillae of cockroach

x2S E08 353 22oedSen

Hypopharynx of cockroach
25008 WG HEIR

Question Number : 55 Question Id : 7196501815 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

collegedunia:s

India’s largest Student Review Platform




Match the following

List-1

A) Refractive region

B) Vitrellae

C) Photoreceptor cells

D) Secondary pigment cells
808 R 1 DGR

wom -1

A) NEEANIN S

B) a9

) 52083 (P8 SEPen

D) BIBOH SEE Seen

The correct match 1s

OGS 23¢9
Options :
A B L D
II IV I I
| ®
A B C D
o V II 1Y III
A B C D
III I AY \%
3. &

D)

1I)
1II)
IV)
V)

I)
II)

I1I)
V)
V)

List -2
Semper cells
Iris pigment sheath

Retinal sheath
Retinulae

Commea

WS -2
Qo0 SePen
DOTPEE SO8 Seren
3 DL ST Yo
I DL SePen
$HE Hdowo
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II I

Question Number : 56 Question Id : 7196501816 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Observe the following diagram of labium of cockroach and pick up the correct set of

labelling:

8005 BIRIES 2TQ0E B0 CINE, DEFV) HOFOD HOF HVeGS BFPO DD,

300505

Options :
I
Paraglossa
IO J

1. ¢
|
Glossa
B

) %
I

Pre mentum

?g?.‘uue.}u

Lo
®

Labial palp

LlnTe] ?'\)QU"JGﬁD

II
Maxillary palp
208)5° "n)bo‘boﬁo

II

Antenna

ﬁbd;) ’%Qﬁﬂ

Sub mentum

8 Dootyo

I
Mentum

D080

I11
Sub mentum

28) Dokyo

nf
Mentum
Fablel AT

I\'.r
Pre mentum

%QZ‘J)GEJQ

n?
Mentum

obdo

~

T
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I I I11 IV

Galea Lacinia Stipes Cardo
(a3 ToJo3 SR o)

Question Number : 57 Question Id : 7196501817 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In a thermally stratified lake m temperate region, the upper layer in winter 1s

0508080 S00Cie0tS" SABE® LOLTEI LONS VBN ITTLS’ DEYE PG

Options :

Epilimnion
DO O3
Hypolimnion

27 O A

Metalimnion

:wer@a)lodrﬁ

Ice

ol AL

Question Number : 58 Question Id : 7196501818 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following

ListI List IT
A.  Anadromous I Anguilla
B. Catadromous II. Protopterius
C. Diapause I11. Lizards
D. Aestivation IV. Insects
» Hilsa

S8 TP 2ed HATLAD

w&m - 1 o — I1
A, OISR I &ollg e
B. Sérge IIL. ErHAD
C. &odars I1I. 2000
D. O0SO0PSR IV. SosPen
V Qe

The correct match 1s

OGNS 23D
Options :
A B C D
A% I IV I
. ¢
A B C D
V I I IV
2. %
A B C
11 IV I V
3. .
A B C D
III II I IV
4, ®

Question Number : 59 Question Id : 7196501819 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Study the following statements and pick up the correct ones:

L. Carbon monoxide pollution affects the transport of CO; by the blood.
II. Electrostatic precipitators are used to control the pollution of sulphur dioxide.
IIT.  Nitrogen oxides combine with volatile organic compounds by the action of

sunlight and form secondary pollutants.
IV.  Poisonous gas emissions of automobiles can be controlled by fitting catalytic

converters.

S0l BT BLH30NTe WA VOMP &) BT (LOowdele

L. )N IPTSY% R0 S G8o g8 2200 CO2 SaEr DePdto @a)ol.

IL  J0§9eds BRI O D6 EOirE00E SLuRg A0SR DACTTOFL.

II. IR0 GSG 0 o g S0 6770) 3D TR DTG Led” K03 2200 HIBOND SPenig
PEFOD 25 oW,

IV. OP0raro Sob Jenst R QPO aroinew Garord) SGOES $3580 © arti¥o oS¢
QONoBouiaiuddy.

Options :

u LA
2. % L

L IV
3.¢

LIV

4. %

Question Number : 60 Question Id : 7196501820 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Follow the statements given below

I) Enzymes in pancreatic juice digest all major nutrients.
IT) Polysaccharides are not digested i stomach.

IIT)  Protemns are not digested 1n oral cavity.

IV)  All peptidases in succus entericus release free amino acids.

S0l T B30T WOets

D 5 5050 DoBS0e ©3) Sneg FIFLD eido BFa.

)  FOFEOE e eSgdoses 5o S°aP).

II)  S0radEysioen esdgdodfdesS edo S°a)).

IV) 050 odol3050 €9 ©90) DDONGEEILN VTP WS WailPOD AW WSFow.

Find out the correct statements from the above.

2 2960 DO PR DOodoke.
Options :
Only I and I'V are correct

I So8axn IV &g D03

Only IT and IV are correct
IT 208030 IV g 830

Only I II and III are correct

L 1T codamo I g 5082

I, II. III and IV are correct

L IL I &wdoin TV 5082
4.

Question Number : 61 Question Id : 7196501821 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Study the following statements regarding CO; in blood.

I) Most of the CO; is transported as bicarbonate ions
II) Least amount of CO> is transported as carbonic acid
III)  Haemoglobin also transports CO>

IV)  When CO: is formed due to oxidation of food. pH of blood increases

35085° CO2 B8oDD S0& 0T e9csasDo Saod.

I) 08ST S0 CO2 BSEDES VOIrY 008" 87T DSBS

IT) 8 DO $855°80e5° CO» 56508 es:v0 Eor00e5° Borer 900
) >ArfDS groe COr A Sorre 3008

IV) es35868 DT u%bédz'ao D08 CO2 DEIGLONDNE B0 cws), pH

Feloblablableln)

Among the above, the correct statements are

2 S DB WoFTOD (VOSG.

Options :

u BRIV
L IL III
S 4
II, IIL, IV

LI IV

Question Number : 62 Question Id : 7196501822 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Follow the given statements.

I Conduction i Purkinje fibers.

1) Conduction i bundle of HIS.

IIT)  Depolarization of Sinoatrial Node.

IV)  Depolarization of Atrioventricular Node.

S50l T BEgAJe WOkt

D 008 GotdHL IO SPSo
1) 20060 B 0 TPO° Sdcdo
II) 0° $05° eSS’ A& Yseso

IV) 505 22805 Send)sS” ddysSeso

Find out the correct sequence for the above statements.

2 WoTOD) 1S SE E50tS’ OHGNG:

Options :

HI-1IV-ll-l
1. ¢

IV-Il-I1-1

7 &

IV-II-II-1
3. %

IV=IIl=I-I0

4. %

Question Number : 63 Question Id : 7196501823 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Following are the blood vessels and capillaries in kidney of man. Based on the blood
circulation, arrange them in correct order.

I) Renal vemn

1) Renal artery

III)  Peritubular net

IV)  Afferent arteriole

V) Efferent arteriole

STIDV PGNP NVo2lolodd  SET°L, P SETRTLD Sold DG aGeow. OF
00830 30000 DI DEOWS EdoeS” ST ols

I) S8y NG

IT) SALIANVY

[I) DBOT P SET°P5° Vo

IV)  e2)drar (e

V) €90eT°0° (oS

Options :

, IVLILILLV

o 1LV, IVILI

-

& M ddle L IV 'V
3

e ILIV. V. IILL I

Question Number : 64 Question Id : 7196501824 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following:

A)
B)
0)
D)

Synovial joint
Ball and socket
Hinge

Pivot

Saddle

308 T RSADGHS

A)
B)
C)
D)

2IdaDES Sen
03 Ay
QD LoD
e5°0r65)
TG Sew

The correct match 1s

DOTDS 23¢9
Options :
A B C
V IV I
.o
A B C
. I IV
2. %
A B G
¥ W W
A B C
| I V
4, =

D)
1D)
III)
V)
V)

D
IT)
I1I)
IV)
V)

IV

Bones involved
Carpal and metacarpal of thumb
Altas and axis

Frontal and parietal
Femur and tibia-fibula

Humerus and pectoral girdle

‘.‘0630{3 DanEen
e3 ) doe SCSEJ"?&)}, Qo3 0N0
%gGSdo, 980
LTS, sbc:"?gi:a
@ @
D308, 2o2gen

mw?&; &8 0w

~

T
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Question Number : 65 Question Id : 7196501825 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The pigment which plays an important role n the vision i dim light 1s

S8 DEE YRES Sowg P Sarod 8o
Options :

Rhodopsin
v S0y

Iodopsin
OCIFGEPRYO

o
S

Photopsin

FPEREN

Chlorocruarin

SEEHT0S
4. %

Question Number : 66 Question Id : 7196501826 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A student 1s about to face an interview of campus placement. He is suffering from stress.
sweating. mcreased rate of heat beat, increased rate of breathing etc. The hormones

responsible for the restlessness of the student are

a8 D0 ol WodER DotolodsS HetBrgd el SeSeTR) . OB B30
SBES TDHER, W0 Do, SYEAD Dol e B0, FIVow atto VS Sotd
OEEPELD RS Il 0 . & OEEPON 528630 TP Yo

Options :

Testosterone and ICSH
dﬁ'{i@é’ <, ICSH

1. *

Oxytocm and vasopressin

&35 1E5R, TRV

2. %
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8

4.

Adrenalin and noradrenaline

J WGEPOR, OGO

Thyroxine and msulin

. BT8R, BYOD

Question Number : 67 Question Id : 7196501827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Read the following regarding the antibody
I) Two mter-chain disulphide bonds are present between two heavy chains.
1) The Fc end 1s formed by light chains
III) Ig G antibody has two paratopes.
IV) A light chaimn 1s connected to the heavy chain by an mter-chain disulphide
bond

'@93 BATEAS No2WobodN 508 9T @CﬁgCﬁJcﬁc Doeb.
I ol 8778 (TR0 5083 Totdd GRS YG BIoTPL) &olTON
)  Fc pocio 89S e Heniuod D hdwod.

) IgG HA B8 Botd J TS’ O Gotraw.
IV)  &rd GTeun, BOE e (Tl GOSYE woleed” SN Gotow.

Which of the above are incorrect?

2 a¢3ES" DOSPR) ©WoFoe

Options :

b

Only 1
I S

®

Only II

II Ao
" 4

Only III
_ I s

~

T
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Only I and IV

I, IV S0
4. %

Question Number : 68 Question Id : 7196501828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Study the following statements and pick up the incorrect one.

Sob 0T WE{0V0 B VO 5°A WoT) (LBodod.
Options :

Interstitial cells of testis secrete androgens

. B0, 085D QLTSS SETA DoE R VRV VDI"OL

Cortex of ovary contains ovarian follicles

R DaE B D) 00" WolrBoD VS Gotraw

2. %

In human beings placenta 1s haemoendothelial type

AFdH0’ 2T°03DD) ATl OO ESo

3.

The cell mass that enclose the ovum mother cell is known as cumulus oophorus

4 %

290607 S A 225800 SETre) VAT DAVVR &G Wotrd

Question Number : 69 Question Id : 7196501829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Study the following statements

D) Development of zygote upto eight celled stage i vitro.
1) Transfer of morula into the fallopian tube.

[II) Tmplantation in uterus.

IV)  Collection of oocyte from the woman nto test tube.

V) Fertilization in the test tube by adding sperms

S0 BT BEg0ohJdo WOkl

I) Do0fnE Baso wIVNE SETL WDHB S 386 erirjo
D)  SeErgers PEHODHS eefets’ Ha3d Do

)  50°)d0%eeS HAFDOS

IV) @otrQ) DOETPE S8 1E0ouiko

V)  DOETRESS DF Prrh Dedd D6 DOOESEe 23800

Arrange the above statements in correct sequence.

D GoTOL DTS SED EoS” BSEYG

Options :

. IV V=Il-=Il-I

IV-VsI-II-II
v

2

g VoIVoI-III-l

: 8

. VoIV-I-II-II

Question Number : 70 Question Id : 7196501830 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

It a gene has four alleles, number of expected genotypes 1s

8 225050950 TPLOM OK0%) DELYSPEN Gol3, B DBYBD Bddg EFIFL Dowg
Options :

6

| ®

_— 10

~

T
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Question Number : 71 Question Id : 7196501831 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which one of the following is an autosomal recessive genetic disorder?

& 808 S° D& B FArd B0 WoddS 25 I $OF )y WHVS?

Options :

Incontinentia pigmenti

“&E“Fjoﬁboébm bﬁ&o@

Hypertrichosis

DN DD

Hoemophilia
AT

Cystic fibrosis

DS 2e5° 0
" e

G e

Question Number : 72 Question Id : 7196501832 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Study the following statements.

L Aneuploidy 1s a chromosomal aberration where there 1s a gam or loss of one or
more chromosomes in a set.

I1. Karyotype of Klinefelter syndrome 1s 47, XXY.

III.  Turner syndrome females have a Barr body in their somatic cells.

IV.  Down syndrome is a genetic disorder due to the presence of an additional copy

of the X chromosome to the normal number of chromosomes.

508 @oFL Qég(ﬁ}éo wWolols.
L ¥ §aredao Dardtas(set) a.8¢ OF %0y a §'a0red’snen SHme OF )0 S &
OEEPQ) WSPgaPoNE ol
II.

55 96 oo Gy, FOCIP G 47, XXY.

I &30 dofo VIO RS S sl 2070 o Gotold.

IV. &R oo 93 22y ©DEIrIS 5°8to SIPaldPLIP Gole §a30res Swwsd eddorr X
§aPes" S DA Sotsbod.

Among the above, the incorrect statements are

2 aPEIES” 00 PR WO 00oSels

Options :

L III

1. %

IL IV

2. %

LI

3. 8

4. ¢ 1L IV

Question Number : 73 Question Id : 7196501833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following

Type of sex determination Example
A) XX-XY type I Periplaneta
B) XX-XO type IT) Pigeon
O) Z7-7ZW type IIT)  Butter fly
D) ZZ-70 type IV)  Drosophila

V) Earthworm
S0l LI B DENG

Do) T°Eer DPD Ak el
A) XX-XY D63 I DO IET
B) XX-XO H6e3 II) FaHGaS0
C) 2Z-ZW 63 ) &es™s el
D) 27-70 23S IV) &oer

V) UL LAY

The correct match 1s

OGRS 235
Options :

A B C D

I I 11 11
. v

A B & D
cu I8 I II \

A B k. D

11 II I IV
3.

A B & D
. v 11 I

Question Number : 74 Question Id : 7196501834 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
gcollegedunlas
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Correct Marks : 1 Wrong Marks : 0



Cholecystokinin acts on

'Y 300 BOVD DeSo WSPLYERIE.
Options :

Pancreas and stimulates secretion of water and bicarbonate 1ons

§'3r0) &2t W AR, P5°F ) @AirHLA VDBV
| %

Gall bladder and causes its contraction

STPE0N0 2 DR DA TPAR Vo8’ Vo B0ob.

2

Leiberkuhn follicles to release succus entericus

TGEPS LD HODD 08D Dol30EDR Yok Bod.

3 ®

Gastric glands to release HCI and pepsinogen

83805 (ot00 D H B a7 ot HCI, DDYSOD Do 800,

4.%

Question Number : 75 Question Id : 7196501835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Match the following

Theory of Evolution

A) Theory of catastrophism

B) Coacervate theory

C) Germplasm theory

D) Mutation theory

S08 TR 2RSHDGIG
DO ’-og‘néu

A) DD S dgrodo
o
B) §6‘r‘ba:5e5 AT
o
C) Dagdy dgrodo

D) &8\0563 Sorodho
A Diat g~

The correct match 1s

OGRS 265
Options :
A B
I 1AY
| ®
A B
\Y IV
2.8
A B
III I
3. %

\(T

Proposed by

I) August Weisman
II) George Cuvier
II) Lamarck

IV) A.IL Oparin

V) Hugo de Vries

DOFBoDD T
I) 305 DD
) 28 DS
) erarf)

IV) A.Lad8S
V) o ¢ R

~

T
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Question Number : 76 Question Id : 7196501836 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Follow the three column matching and find out the correct combinations

S.No Item Component Equivalent to

I) Primordial atmosphere H», H>O, CH4. NH3  Reducing atmosphere

IT) Spark chamber Electrodes Lightning
I1I) Condenser Cool water Simulation of ramn
IV)  Aqueous solution Amino acids Chemucal origin of life

$08d oL %%3?30&}:50 WD 00D AL EN) DAY (00oudole

X. o Wodo Doantindo Q8 DeSrdo
I) PPRE TPTPSEdo H>, H)O, CH4, NHz &0 85683 r@Pad08s0
II) &ON0 853 @Ug‘ j& e Ao V)6) (DY
I1I) 505655 J}gﬁ.} /ey -:‘ég?'.,‘g} 080
IV) 2o grdeo TS ST GPOLS 28D\
Options :
Only IT & IV
8 II &IV Srgad
Only IIT & IV
III & IV Soedhad
2. %
Only L T &IV

. LILIV Srgdo

3,
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L IL II. IV

LILIO IV
4.

Question Number : 77 Question Id : 7196501837 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Biogenetic law was proposed by

NENERVALEE LRGN IATWINA
Options :

August Weisman

2303 DS

| %

Emst Haeckel

E., W E
L W) &85

b

Von Baer
TR 290

3 ®

Bemard Kettlewell

20°) & SESDES

Question Number : 78 Question Id : 7196501838 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Bird flu 1s caused by

0B 5 D SOA0BE

Options :

. HBV

Hs N virus

Hs Ni 26
2. i
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4,

®

Hi Nj virus

HiN; 26

HSV

Question Number : 79 Question Id : 7196501839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Options :

LII

Study the following statements:

L a —1 antitrypsin used to treat emphysema can be produced from transgenic
animals.

II. Milk of the first transgenic cow. Rosie contains ¢« - lactalbumin.

III.  First clinical gene therapy was given to a four-year-old girl with phenylalanine
hydroxylase deficiency.

IV. p53 protein promotes the development and growth of tumors.

8ob @0 BQz00S0 Wolek

L DobHaST D815 ©S508chy @ —1 o3RS & ey DOSQ 2otaHL BT
GO NSI00S)Y.

II. S B2y OSQS wad) TR ol o TTFLONNR Sotod.

O Sl $03S ey 8y 1IS IR TErd Ol S7e Ho Treutl Dedieyorw
oS doDGd

Iv. p>- FES Sewow DX Yo, BAALELD FS\arwed.

Among the above. the correct statements are

> &3 ‘L\g&‘ S0

1.

L

*

II. IIT

L1V

. ILIV

Question Number : 80 Question Id : 7196501840 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following
List I

A) Prolonged P-R interval
B) Shortened Q-T interval
C) Shortened P-R interval

D) Tall T-wave

S08 TN RHDGI0G.

A) P-R @90t60 dE) &
B) Q-T wodsdo SO

C) P-R e90c3G0 &< 5
D) @gé T-¢5S0t0

The correct match 1s

000 &S
Options :
A B ®
II I IV
| ®
A B <
I IV V
2. %
A B K
\% IV I
3 ®
A B €
o I Y

I1

1y
V)
V)

D
1)
I11)
V)
V)

List IT
Hypercalcemia
Bradycardia
Myocardial infarction
Tachycardia
Hyperkalemia

wO-11

P00 PO

GG Qour
SHAIFS*O0NO FTOLD
RSSO0

PO

Physics
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Section Id : 71965038

Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40

Section Marks : 40

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 71965038
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 7196501841 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : The acceleration due to gravity 1s different for moon and earth

Reason (R) : The law of gravitation is different on moon and earth

BN (A) 1 AP SH00K oG TIVE, KT S BERLD SEINP Folrow,
SO (R) 1 8Pad SH00K) oG GIvgy, Hxehg A0S SE0IEITP Hotrow,

The correct option among the followmng 1s
&8 Sold VYT DOV
Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation for (A)
(A) DBz, (R) 053250 H00K0 (R) @056 (A) § 0OGNS e3¢

| ®
(A) 1s true, (R) 1s true but (R) is not the correct explanation for (A)
(A) Dz, (R) 0895350 521 (R) ©0IQ (A) § D00 Dadden oo
2. #
(A) 1s true but (R) 1s false
(A) 88550 8 (R) 809350
3.¢
(A) 1s false but (R) 1s true
(A) 03350 5°Q (R) Dehgadw
4. %

Question Number : 82 Question Id : 7196501842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

T

collegedunia:s

India’s largest Student Review Platform




Correct Marks : 1 Wrong Marks : 0

The S.I unit of inductance 1s
@é§® 2a300a380 S.T HaSoeeasson

Options :

Kegm S% A7

|, ¢

K. S~ A"
2. ®

Kg.m®. 5247
3. %

Kg. m?>S3. A7
4. %

Question Number : 83 Question Id : 7196501843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the linear momentum 1s increased by 50% then the kinetic energy will mcrease by

32POD Ka8ga3tiasan 50% oSI0NS T (32 DRI

Options :

50%
|

100%
7R

125%
3. ¢

25%
4 B
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Question Number : 84 Question Id : 7196501844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The time vs velocity graph of a moving particle 1s given here. Find the acceleration

of the particle at 8-12 sec and 12-16 sec interval respectively.

W8 SOSKNES P SN CINE, FOSH SHOOKL SO Hdg KO PO DS
SFHRIGID. @ Sasn g BIEER) 8-12 e Hoo 12-16 dEHew FO

33505300 55 SERITP E508% 0.

10

Options :

0 m/s? and —1 m/s?

| %
%
1 m/s? and —1 m/s?
2 o
;. 7
1 m/s” and 0 m/s”
3. %
) b
0 m/s“ and 1 m/s-
4 &

Question Number : 85 Question Id : 7196501845 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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A particle 1s projected from a point on the ground with mitial velocity of magnitude
10 m/s. such that its horizontal range is maximum. The magnitude of its average

velocity during its ascent 1s

2Be0STBE Tgh) (1000 VRN B ESND APEHOBLED (O Dotidal) S ol

10 m/s 5O Saned” DEDSN VT, & §do VT NSNS &) W) VOO 3
T INUINAGY

Options :

5
— /s

V2

22

— NVs

\E

o
S\E ny's
J2
3.¢
5\5
n's
2
4, ®

Question Number : 86 Question Id : 7196501846 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A ball 1s projected horizontally. The range 1s 3H and height of projection 1s H. Find
the speed of projection and actual velocity at the bottom respectively.

(Assume g 1s the acceleration due to gravity)

8 WS SBNSTBEP HIHAD DODRIESE. & Wod BE; g8 IH SHO0W HADo

3096063 e H. D080 I0HES J8s0 SHO0K) aFad &3 H800etS & woed
AT, VLV B350 DS odo
(g BO0I& (‘ioéoécg ¢ ‘Sdeaaﬁwﬁn €908 06s)

Options :

~

T
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. ¢
oH : gH
. 2
P
gH: oH
2 L=
3 ®
15
J5gH @ ,[—gH
2
4, %

Question Number : 87 Question Id : 7196501847 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A block of mass 2 kg rests on a rough inclined plane making an angle of 30° with the
horizontal. The coefficient of static friction between the block and the plane 1s 0.7.
The frictional force on the block 1s

(Assume g = 10 m/s?)

2 kg Q83078 (0 a8 Qa3 £8es08roB00es” 30° S50 WORNSQITP o) el Dodes
B0 WETEL BUD PolieaGSD. S Gerds SO0 & AP ey o PBY s

C0EES0 e 0.7. 0D & IR DG WOSN wlod.
(2= 10 m/s” 935 &)

Options :

I0N

73N

2. ¢

~

T
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10J3N

TN

Question Number : 88 Question Id : 7196501848 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A gun fires bullets of mass 10 g each with a velocity of 750 m/s. The person holding
the gun feels an average force of 150N against the gun. What 1s the rate of maximum

number of bullets fired?

w8 s 10 g S530°8 SO0 200000 S &A™ 750 m/s S0ed” Heoyed. &
P80 DENKOS), S58 S HFK SgABE BFS’ 150N 20050 HAAPASLIESLD SKHAFS
Dol WO & Bars DS wSER Gy, B0R Dotdg B wdotd.

Options :

1250 /mun
1. %

800/min
2 *x

250/min
3w

1200/min
4 &

Question Number : 89 Question Id : 7196501849 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A car of mass 2000 kg 1s moving at a speed of 20 m/s up an inclined plane making an
angle 30° with the horizontal. At some point, the motor stops, and the car continues to
move along the plane due to its initial velocity. If 1t 1s just able to reach the destination
which 1s at a height of 10 m above the point, calculate the work done against friction
acting between the tyres of the car and the plane.

(Assume g = 10m/s?)

£3250a55°0900e8° 30° §'ea0 WO 28 TPen Bdn 25 a8 5 2000 kg JS50°%
590 20 m/s JtS0es” HOSrEuol. St Seo DA 28 Roide) oS58 5250 Boezad @O0
Q0 & P8 TP A% 5O i) SO S0otB0 LR BDFLTPIN. A SO &
580 &8 2oldad) Do 10 M KrdeeS’ HL ¥ eIBONS DoliaHR) TP (elg PSP 30l
©:H%0S) OB, & BerAS HOOKD P IFFL ey DGER SgB0ESNTP & G Wokv
D ooth?

(g = 10m/s* 905 &)

Options :

250kJ

200 kJ

150 kJ

300 kJ

Question Number : 90 Question Id : 7196501850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The force acting on the block is 104/2 N with an angle 135°. Calculate the work done

when the displacement 1s Axy=35m

10V2 N2owoed* a8 Sna) 065 135 §'mcsnes’ DOIHODS) DD &S00 aBsy
PSSt Av=5m SOND & S0e) M 2200 DO Dots?

Options :

254217

| ®
50427

2. %
50 ]

3,V
4017

4, %

Question Number : 91 Question Id : 7196501851 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The moment of inertia of a body does not depend on
28 Sad) GINE) 2] GIPS0ESW S8 Sobd TPEIS” BN WSV SeDots

Options :

angular velocity of the body

3S5R0a3) AR08y §EIO a3tdasan
1.
mass of the body
D) GO0
I
the distribution of the mass in the body
S0 CIT). W30 LBCEs
3. %

~

T

collegedunia:

India’s largest Student Review Platform



the axis of rotation of the body

S2069) G0, BI5080 XS

Question Number : 92 Question Id : 7196501852 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A uniform sphere of mass m = 2.5 kg and radius R = 10 cm rotates with an angular

velocity, @ = 200 rad /s about 1ts diameter. Find 1ts kinetic energy.

m = 2.5 kg (30°% o 2.8 DE6SB (TFS» R =10 cm TP3PES00 OOl S8 (T
TP TPgRaS0 (ole® POD @XSW wego® = 200 BEaAlra/s $HON Jiained” HOZIES0
Do) 0B tPQ) GI0E), ¢33 38 0dot?

Options :
15017
1, *
200 J
2.¥
300 T
3. %
3507
4, %

Question Number : 93 Question Id : 7196501853 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

5

If a simple harmonic motion 1s represented by (:;: +ax =0, 1ts time period 1s
%
af SOEZD Gy, VS FPOPEE SOSKH0D ‘;"‘ rax=0 HQ0¥Basnes’ P TR
&350 SPLIBW oJoth?
Options :
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o
|

2

\/r::r
2 of

2T
’;_H

2o
4. %

Question Number : 94 Question Id : 7196501854 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The period T and radius R of a circular orbit of a planet about the sun are related by

QPBOgR v é@@&ne{,‘b ¥ (J3%0 GInE), B3I SPLSW T 56080 @53@0&31{ 0L
ARNVATRSTEATATY

Options :

T? <R’
. ¢

T <R
7 ®

Question Number : 95 Question Id : 7196501855 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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When an elastic material with Young’s modulus E 1s subjected to a stretching stress S.

the elastic energy stored per unit volume of the materal 1s

2 DBFDE HEPEI0 G, Ooh KD E. St DOE50 S 00 352 D00
'S0V & DEFGSIES 28 T LOSHOSTERIS SO0l VOFDE 9

Options :
Sl
2F
g
ES*
2
2. %
S’E
4
3. -
g2
AE
4 ®

Question Number : 96 Question Id : 7196501856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A pipeline has its two ends with areas of cross section as 20 em’® and 10 cm’

respectively. Consider a steady flow of water in the pipeline such that, the velocity of

flow and the pressure at the larger openimng 1s 2 m/s and 9000 Pa respectively. What 1s

the pressure at the smaller opening?

(use density of water = 10° kg/m?)

% (TS0 Totld DSGL G0 g8t FFrerrgen SEIP 20 em” S0k 10 em’. &
(TS50 (0T a8 DS A HDIFTS0 (T&o G008y, 3er 3 et 858 s> Stiadn 2 /s

0005 X555 9000 Pa soliertn HISAFLIeR. BB HOEES &e $6 HesSo
(3 Foies = 10° kg/m’)

Options :
1500 Pa
| %
1800 Pa
2. ®
1300 Pa
3. %
3000 Pa
4. ¢

Question Number : 97 Question Id : 7196501857 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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A steel rod, clamped at its two ends, rests on a fixed horizontal base. The rod is
unstrained at 20 °C. The absolute value of the longitudinal strain developed in the rod
if the temperature rises to 60 °C is:

(coefficient linear expansion of steel = 1.2 x 107>/ °C)

o G5 46 K Dol DSBN JEI0NS IBEISTNS EFGeD DOVAES
DRGSR, S5 56 20 °C SIS S DEYASE S FSK BP0, OND GBS
60 °C % Do & LB SBy HEDH ©HBTg HEHSD

(&8, ¥6 G, B g8"S Koeadadn = 1.2 x 107/ °C)

Options :

42 x107*
3.6 <107

4.0 x107*

4.8 x107*
4. ¢

Question Number : 98 Question Id : 7196501858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :
If T 1s the temperature of a body then the rate at which energy is radiated from the

body 1s proportional to

8 SX0P BAG T S HSY QOB & S50a9) 8Bt 3D 9§ Ow & §ob TS
SYBL DS OIS STHFBES’ Hotod.

Options :

T
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2. %

T3
.=

T4
4.

Question Number : 99 Question Id : 7196501859 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An electric heater supplies heat to a system at a rate of 100 W. If the system performs

work at a rate of 60 joules per second. the rate at which mternal energy 1s

Bl DX ey Bl SgS0%0 100 W Bewes® &0 HBH0° 3000, B S S50
3 H GI0E, Bw 60 J/s(FSy HS DEDK) LoD & 5:50 A, ot50s 33 3w

Options :

40W
], &

60 W
I

100 W

3 %

140 W
4. B

Question Number : 100 Question Id : 7196501860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The mean kinetic energy of a vibrating diatomic molecule with two vibrational modes

1s (k = Boltzinan constant and T = Temperature)

BDGSIEE WEDLY) Tolld oDI0LNLD EDaHol TP Ay, Hricw Hiedes ¢S

( k = Boltzman constant and T = Temperature)

Options :
2 kT
7
| ®
3
— kT
2
2. %
q
— kT
2
3.8
7
— kT
2
4. ¢

Question Number : 101 Question Id : 7196501861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A rocket moves at a speed of 250 m/s directly towards a detector pole while emitting
sound waves at frequency f= 1000 Hz. The frequency measured by the detector 1s

(Assuming velocity of sound= 350 m/s)

s OF8D 250 m/s SS0e8* 8l ¥ Noalesd F%) POTPESED ©O IS0 B
BSTPL TS50 £= 1000 Hz 000S & §°5850 OB %0 FS)sgasn
(0 35500 = 350 /s SKEE)

Options :

3500 Hz
.

~

T
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6000 Hz

2. %

4250 Hz
3. %

5500 Hz
4, %

Question Number : 102 Question Id : 7196501862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When light travels from medium 1 to medium 2. The total mternal reflection occurs

when:

5% OIPIES0 1 Dol OIPSESD 2 '8 HOSPEND. &8 Sob N DotdGSNS" St o
NoRPTPeB0 0000 Weldol.

Options :

Medium 1 has higher index of refraction than that a medium 2

OSrPaS850 1 308, a8Sedaded toeasasn OSIPIES0 2 S0kl ¥y oS

1.v
The angle of incidence 1s small enough for the refraction to occur in medmum 2
QIIPIEI0 2 S'08 B8aISI50 eahgéadn HBITod §'b B0 S ool ol
2. %
Medmum | has smaller mdex of refraction than that of medium 2
OSPSE50 1 G30E). 258a3a5eS (e8NS OSIPaS¥asn 2 8ol %0y 5
3 ®
Light travels faster in the medium 1 than in medium 2
5°0€3 OSPRS00 1 €5 OraSEa8n 2 $ol3 0030y &5 t5eS0ed” DO EsVeR
4. %
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Question Number : 103 Question Id : 7196501863 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the critical angle for total internal reflection from a medium to vacuum is 30°, then

the velocity of light in the medium 1s

28 5% 28 OUPIESN ol EPJgSNSAS DaFBodSNE & 20 DoPTe®dd HoPSEe
RoBIYE 50 Dot §'eadn 30° oS © CNPSES’ 703 IS0 oo

Options :

3 = 10® m/sec

1.5 = 10® m/sec
6 = 10° m/sec

V3 % 10% m/sec

Question Number : 104 Question Id : 7196501864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Consider a Fraunhofer diffraction pattern due to circular aperture. In this case the

o
diffraction pattern obtained at 150 cm from lens. If the wavelength of light 1s 6000 A
and diameter of aperture 1s 0.2mm. what 1s the separation between central disc and

first secondary minimum?

a8 SYTTE oth TIT® YE FHIHE DSGIIN DEOSH BKTEI0. & ErESw

$06 150 om BrESNS’ DSGS e DEYGOW. Fod GV, SSasBIg 6000 A
50050 ot G, 505 0.2 MM GKTED. SO ol HOHIVSL SO
05 Fen SDQKDSED (LogdreS) SoiSg B oo,

Options :

~

T
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0.65 cm

| %

0.45 cm
2.

0.75 cm
3. %

0.35cm
4. %

Question Number : 105 Question Id : 7196501865 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Three particles of charges 1 x 107 C, 8.0 < 107° C and 27 = 107® C are kept fixed on
the x— axis at point x= 10 cm., 20 cm and 30 cm respectively. The magnitude of the

electric force acting on a 1 C charge placed at x = 0.

(Assume =9 x 10° NC™m?)

dne,

AP SO ISy ST 28258 1 x 107 C, 8.0 x 107 C 005w 27 x 1078 C
EO00H°),000 SH0050 68 P WITLN X—EI0 SGOP x= 10 cm, 20 cm  SHOC3W
30 cm rGoes” @08 20GaHTY0W. X = 0 3¢ aHodd 1 € &3 DAIFhodents 0D
£ 20050 odo®.

1

=9 x 10°NC?m’ ©:3500%)
dne,

(

Options :

25x 10N

54 x10*N
2.

72x10*N

~

T
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4.5 < 10*N

Question Number : 106 Question Id : 7196501866 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The potential at a point P due to a charge of 4x107'C located 9 cm away is

=9 x 10°NC’m?)

(Assume
4re,

4x1077C L3830 ok 9 em Srdo 36 Govdetend P @05 2Jotie)) 565 &8 &a3daln 5 SO0

%{%c(ﬁréﬁ@od)@ DS oo,

1
4dne,

( =9 x 10° NC° m’ e9:3%0cw%)

Options :

410V
e d

5x10*V
2. %

6% 10°V
3. %

7% 10¢V
4 =

Question Number : 107 Question Id : 7196501867 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (
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A 6V cell with 1 Q mternal resistance and 10 V cell with 2 Q internal resistance

and 10 Q external resistance are connected in parallel. The current in ampere through

10 V cell 1s

6 V Do Cﬁbézr @o@&&@iém 1Q 0605w 10 V 3ée Cihﬁgj @D@@lﬁﬁéoﬁ)} 2 1)
10 Q &= QOTPR) €8 Botdd AL DaiiPoS DeGPISNG SLDLETON. 0N
10 V 208050 HooGe @06?83053 &’Jc‘éog&i'} e:?oé’}&ﬁogcﬁ‘ BODG.

Options :

1.56
. ¢

0.8
) ®

/0

3. %

4
4, ®

Question Number : 108 Question Id : 7196501868 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~

T

collegedunia:s

India’s largest Student Review Platform



Find the magmitude of flowing current i Ry of following circuit, when a constant

voltage 22V 1s kept between AB.

A 500k B © iy 28 S ST 22V afodenteditd. @ond & Swosnes” Ry tote

HSEPoD DS DR oot

R=1Q
VWW\
Ao——
VAAAAV,
R;=5Q
Options :
J25A
|, v
520A
2.5
6.25A
3 ®
1.20A
4, ®

R,=3Q

Ry=7Q
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A current of 10 A passes through two very long wires held parallel to each other and
separated by a distance of 1 m. The magnitude of force per unit length between them
18
z‘u:} 107 : -
Use —=10"" in S.Lunit

dr

Ootd) B3 FUIS e wSPASE JaiTroBdSS0P oot Im  SrSSnes” S

DOLGRTON. @) Koot FAD DS VS 10 A. ©000S & Dot B0 5065 e
a0 BN 20 HOSITERSN

[%:10* S HAFEPOLS' o8 S
/4
Options :
2x10”° N/m
. ¢

3x10”° N/m

7R

4x10” N/m
3. %

5%x10° N/m
4. ®
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A Dbattery 1s connected between two points A and B on the circumference of a uniform
conducting, ring of radius r and resistance R. One of the arcs A B of the ring subtends
an angle 0 at the centre. The value of the magnetic mduction at the centre due to the

current ring 1s

DEOD FLEHIID SO a8 LSRN G TEFGI T HOOKH A6 R. 6D Sy
DOOL A 0050 B 0 Totld Doted)® iy a8 207500 SOLT L. & So¥eaaiod Al
AB 9% SHysardasn P Sogife 56 WO St 6 D00, woNd & K8t
OS8R DS SO & Fogo 65 GANF), o DEE o,

Options :
proportional to (180°—6)

(180° —6) % 3¢5 SrS0ardoeS” af)olold

| %

mversely proportional to r

I' 30 Q5 SIPDPHES” af)olodd
2. %

zero, only if 6=180°

X0y , 3500 §=180° eowd
3, ®

zero for all values of 6

©), 0 VLVSOF OT°Y
4.
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The relative permeability of paramagnetic and ferromagnetic materials are

PO° WOV 00 0050 DF WOKFY 0 DT AN, Fo& DIFFIVS DLSL

~
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Equal to zero

SVVAR RN
| ®
equal to unity
500 DTSN
2. %
negative
BOVEPD Y 530
3%
greater than unity
25050 Eol3 2805
4. <
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Consider two solenoids A and B such that La=21Lg and A;F% Ag. where La. Aa and

—

Lg. Ap are the length and area of the two solenoids respectively. If the magnetic

energy stored in the both solenoids is same. What should be the ratio of their

: B
magnetic fields —= =
B

Ool) FOTNELD A NDOCIN B o La=2LB 0060w A,q:%AB @di)g DENTP

SRy, 886 La. Aa 0050 Lp, Ap €0 SEP A SO0 B © clwdy, e
0OAKN JFPLgain. & TololdS” AL ol WOVFy o ¥ WS DWAOTP HobNod. WS

B
o°e3 @Oﬁ)ﬁ‘&a@ igf_} B—A rf.‘::.]‘_htg oJoth,

B

Options :

1:1
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\5:1

2. %

l:ﬁ
3 W

Bt
4.
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When A LR cucuit with L = 3 mH 1s connected in series to an AC source of rms

voltage 30 V, a maximum rms curent of 6 A 1s observed at frequency ( 200 Hz. It
T

this LR circuit 1s now connected to a battery of emf 21 V and internal resistance of

3Q). the current will be

L =3 mH &0 a¥ LR S0oird) &8 SHdged oroe(mms) S 30 V, o a8 AC

1;
2SFO8 TS EODTE. & SLODES [ﬂ)ﬂz TSR0 S BOQ Tms DS 6 A

n

DA, B @ LR S0oird) 21V Qogdaryof woso(emf) o wrgéods
0S50 WATE SHO0K0 QR ©eH0) §'E50 3Q 0N KIS VIS oo

Options :

2A

<
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Which type of electromagnetic waves has longest wavelength among the following

88 800 RIS DEDFEADIY 09 BPOS D6 KOR BGots BTgRY, O Hotood.

Options :

Radio waves

OGO SGarPen
1.V
Visible
B NS s°0ed
2. %
Ganuna rays
y — (RS5®) 58arPen
3. %
X-1ays
X- SSeren
4 ®
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The work function of photoelectric material 1s 3.3 eV. The threshold frequency for

such material will be

28 S &)dngé DeGe AI0EY. DA DaBOWSD Dess 3.3 eV OO & Hwrdo GIE). wGodd
?ﬁi@é@ﬁw DS

Options :

8 » 10 Hz
1. ¢

8 » 10" Hz
2.
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5 x 10*° Hz

4 = 10" Hz

Question Number : 116 Question Id : 7196501876 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

100 °

A hydrogen atom goes to excited state absorbing a photon with wavelength ——

where R 1s the Rydberg constant. If this absorption corresponds to a transition line in

the Lyman series, calculate the energy of the excited state.

W8 Gadd DOSIEVY) ﬂi B8otiDGgSn FONS a8 FEPD ToB 3 QeudRR

99R ~
SRS FOowS DOIKeL ODNKEESD. B E R @HIL 8Ged HTPES. & 37 wPgo?

2200 DOFIH Y, VoEHESND GBS IAP oY, edetd ¥§ Foo g W
£ S0l

Options :

—0.136 eV
. v

—0.213 eV
7 %

—0.112 eV
3%

—0.167 eV
4 %
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When £ particle 1s emitted from a nucleus, then the ratio of number of neutrons to

protons 1s

¥ SoBES0 f~ S50 GTPOR), SPglrn De@gld SH00KN FErw Jo@go Siidy e
RE
Options :

decreased

55088000
[

increased

FRlo Vigbla: VST

Temains same

o NS o AN
may increase or decrease
970 g TR Y) N S/ NWY A

4 %
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The probability of electrons to be found in the conduction band of an infrinsic semi-

conductor at a finite temperature

28 DO &IPS I awl D3erses 8 TIPESNS'V DUFIDUD TPA AINE, TS
DS 85080y, DoPadged

Options :

increases exponentially with increasing band gap

38 9000 DEXVEP a9)old HIPBOR T BB
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decreases exponentially with increasing band gap

38 @080 DENVLP afold DPBODP SR

2.
decreases with increasing temperature
&S HOHNVET 0903 SR
3 R
1s independent of the temperature and band gap
&S HO0IN 45 WoBBESNOR WHEOE
4. %

Question Number : 119 Question Id : 7196501879 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Which of the following 1s not true in the uses of LEDs over conventional imncandescent

bulb.

Fod G0 Gairé (LED)o Gl &OOrPOsS’ b Fodarohde® Sk (H58e3)

O, e5" PO DOGSG 57
Options :

Low operational voltage and less power

98035 S'Tes 55 DVBOLUH S00K0 KA PSGgasw

1. ®
Fast action and no warm-up tume required
DSOD o338 aotWold 200N JGE) TEAS Daddoe DEED
)
Long life and ruggedness
2509,35 2EDBTPLBN HOOKN WSS VT®YETSD
3, %
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Slow on-off switching capability

oSy AL D 55() UAVOINWENNY A0 N EAVEIA

4.

Question Number : 120 Question Id : 7196501880 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

Which of the following statements 1s correct?
&2 800 ) HAWES DOV

Options :

A transducer 1s a device which does not convert one form of energy to another

form

3 QP @0 PAISW 28 F8 a8 Gt ol SHOAINE GrrdoBd S8 NS

| %
The band width of music signals & 1 KHz
2018 Do3TP0 G, B85 Icseny ~ 1 KHz
7 %
Bandwidth of picture signals = 4.2 MHz
&y Do alng) HE Jkeny = 4.2 MHz
3.
For voice signals. the frequency range 1s less than 300 Hz
o Vo3P0 GINE) TSRS ©3G 300 Hz Lol3 6550)
4 %
Chemistry
Section Id : 71965039
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
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Sub-Section Id :
Question Shuffling Allowed :

71965039

Question Number : 121 Question Id : 7196501881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks :

What will be number of electrons in the species H™, H; and O; ?

H™, H] 50050 0] e Gole dO§Fcr Doty SEOP

Options :

1.2 and 16

1,2 200w 16
1. ®

0.1 and 31

0. 1 6w 31
P

1.1 and 8

1.1 0050 8

0.1and 15
0. 1 6w 15

Question Number : 122 Question Id : 7196501882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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The number of nodes 1n 4f orbital 1s

Af 0P’ G0l ' Notdg
Options :
Ze10
WY,
L%
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one

2u3ed
-

two

Ol
3.8

three

oL
4.v

Question Number : 123 Question Id : 7196501883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

The covalency of boron and aluminium in [BF,]™ and [Al(H,0).CI1]” are respectively

[BE,] ™ £00050 [AI(H,0),C1] "™ &5 2508 50050 690175 andofoe) Hacirzdaied SSire

Options :

4 and 6

4 56050 6
[N

3and 3

3 605w 3
7 #

3and 4

3 oW 4
3 R

4and 5

4 0050 5
4. %
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What 1s the correct form of electronic configuration of thallium(T1) element?

T*O0Ne(T1) Sorese AN VTS DOFID DTegS0

Options :

[Kr]4d" 55° 5p'

|. ®
[Kr]4d" 5¢° 5p°
2. ®
[Xe] 4™ 5d" 652 6p*
-
AL ¢ o S
[‘{ ] 4f14 gdlﬂ 6 ﬂ6p3
4. %
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Which among the following lithium halides 1s more covalent i nature?

808 S’ OF DSHAIPBAOD DIETSS0ED EDS), OBOK F°OE 6?

Options :

LiCl
. *®

LiF
7 »

LiBr
3 ®

Lil
4.
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Which among the following species 1s paramagnetic i nature?

800 TPRUES" DAY 08 DA ST 2 B?

Options :

O>
1.V

'.‘_;_

O3
2. ®

N,
3. %

N2
4, ®

Question Number : 127 Question Id : 7196501887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The RMS speed of N> m a gas 1s u. If the temperature 1s doubled and the nitrogen

molecules dissociate mto nitrogen atoms, the RMS speed of the atoms will be

FOSNGHS No G3wgy RMS Jho u. &S 08om) IS
DESTPEDDHNT DEFS, & HOSTEHL Alwsy RMS oitde

Options :
11
4
1. w
4u
7 #
6u
3. %
2u
4. <

~

T

G IS2(IBe) VeV
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Question Number : 128 Question Id : 7196501888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0
Which of the following represents a plot of compressibility factor (Z) vs pressure (P) at

room temperature for O;?

S8 S0 TS DB 0250 K56 BYHD 5B, VodEgT KRS (Z) S005 SIS (P) 5 Socdg
5 (D) DPIB.

Options :

/
Pp—>
|, %
T
z\./
P —>
) o
| e
7 %
T/\
Z
\_/"
4. % s
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Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Match the following

List-1
A) N, (g) + 0,(g) =»2NO(g) D
B) 1I)

2Pb(NO; ), (s) —>2Pb0(s)+2NOj(g_)+%Oz (2)

C) NaH(s)+H,0(/)—>NaOH(aq)+H,(g) I1I)
D) 2NO,(g)+20H (aq) »NO, (aq)+NO, (aq)+H,0({) IV)
506 TR 23HNBINSN
e -1
A) N, (&) + O, (a°) —2NO (<) D)
B 2Pb(NO, ), (69)—2PbO () +2NO, () + 20, (&) e
C) NaH () +H,0(&) — NaOH (z20) +H, (°) 1)
D) 2NO,(a7)+20H (zw) > NO, (@) +NO,™ (z20)+H,0 (%) IV)
The correct match is
DA 23¢9
Options :

A B C D

A B & D
I IV I 11

List - II
disproportionation
redox reaction
displacement redox
reaction
decomposition redox
reaction
combination redox

reaction

0635 - 11
AR

w5\ X00E0e 3y
FSejod

@8 X0030es ST
QOIS

w85 0%85e S5
QeCIP()

8K 0%85e S5

gcollegedunias

T



A B G D
IV II II1 I

3. -

4.
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The equivalent weight of HNO; m the following reaction 1s

800 BSRGES 655 HNO, o, e do

3Cu+8HNO, — 3Cu(NO,), + 2NO +4H,0

Options :
al
3
1. ¥
M
3
2. %
M
3
1 ®
M
8
4. =
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The change m internal energy (AU) of a closed system. when'w' amount of work is

done by the system and '¢' amount of heat is supplied to the system., is

W8 Nod)® L0 PIgadVB 'g' DOBITWo (I Gadod) WolodP "' DOSTEGo (U D
BODWED & Doy S350 CIE). WoB0E 48 (AU) & ooty

Options :
AU =W, giabatic

AU=w DG

1%

AU=q-w
2. ¥

Al = —g
3, %

AU= —-w
4.%

Question Number : 132 Question I1d : 7196501892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

What 1s the concentration of sodium acetate to be added to 0.01M solution of acetic acid

with equal volumes to give a solution of pH = 5.5?

(pKa of CH3COOH =4.5)

pH = 5.5 graitso SOrEB050e050, 0.01IM d0ES &abo TPeSEaoniSy, Dl dd HOSIEres
FODSOS VG0N 2IEIE TPE oJos?

(CH3COOH G, pKa =4.5)

Options :

10 M

~

T
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2. %

0.1 M
3. ¢

1M
4, ®

Question Number : 133 Question Id : 7196501893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For the following reversible reaction
N2(g) + 3H2 (g) = 2 NH3s (2):AHs= —92 kJ/mol.
What 1s the most suitable condition for the higher production of NH3?

&8 $ob 6887 9oE80% IB3eS*
N2 (o°) + 3Hz (o°) < 2 NH3s (o°): AHg= —92 kJ/mol.
©OF InoeS NH 651938 e98950% 0 HEPORS HORE da0ed?

Options :

High temperature and high pressure

WOF & (IO SOOI VOF VIS
|, %
Low temperature and high pressure
OO &GS SHOOK BHE VIS
.
High temperature and low pressure
VOE &S O VLY GEINW
3. %
Low temperature and low pressure
VO Y GIHD O LY DEIIW
4. %

~
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When temporary hard water containing magnesium and calcium hydrogen carbonate is

boiled. the precipitate formed contains

SRoPe O FOOND TERS FEYILSD $OIHS) T8 FOIgS A IG
BSYE(S0BNDIRNE) S \G S ETren

Options :
Mg(OH), and CaCOs3
Mg(OH), 350050 CaCOs
Rg
MgCO;3 and CaCOs
MgCO; 00w CaCOs
2. %
MgCOs and Ca(OH),
MgCOs 500030 Ca(OH)2
3. %
Mg(OH); and Ca(OH)»
Mg(OH), $60%0 Ca(OH),
4. %
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Ca burns with N> to produce a white powder which dissolves in water to give a gas ‘X’
and a solution with pH > 7. The solution on exposure to air produces a thin solid layer of

“Y~ on the surface. The compound ‘X’ and ‘Y’ are

Ca 8, N2 €5* 300855060 8163 B0 6 IS 500 X’ &3 370k 005 pH > 7
(90 @PdEiond) BVoQ. €8 TIPSt TPOS HodSNE &NOBLoD &l Y’ 83 DLW o B
2 DD, & X’ SH0050 Y’ & HEegren @0ed?
Options :
NH; and CO;
NH; 50050 CO»

NH; and CaCOs
NH3 206030 CaCO;

R4
CasN> and NH3
CaszNz 0030 NH3
3 %
Ca(OH), and CaCOs3
Ca(OH)2 000%» CaCOs3
4. %
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An unknown morganic compound “A” on reduction with LiAlH4 produced a hydride
product “B” (along with other by-products). The product “B” contains 21.72% of
hydrogen 1n it. The product “B” on exposure to air gave boron trioxide. The compounds

“A” and “B” are

2.8 “A” 93 BO0N0 ©¥6)S Dwrdo LiAlH, e5° £ohEGee Dok “B” @d &9 G )ae) Q)
R0l (FBS &BHYT*) VD WEYDJr). “B” 03 Darde 21.72% rEeee §O0:9ed. “B” &
POS” 3o BP0 F9uS )Gl Bk, “A” 0akw “B” dargren

Options :
A B
B:Hs LiBHg
1. ®
A B
BF; B>0s3
2. %
A B
BCls B->Hs
3. ¢
A B

Question Number : 137 Question Id : 7196501897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks :

Graphite form of carbon conducts electricity due to the presence of

630 RE, FRE Erarotio DB PFdo IOHES tio SO0
Options :
SpECTHTGl’ electrons

QXY @Uﬁf.ue.u

~

T

collegedunia:s

India’s largest Student Review Platform



Delocalized electrons

OPIEYD(LSTETR) SUTI

2. ¢
Sigma bonded electrons
Y 2008 Q@gjﬁw
3 ®
Free 1ons
2 ) OITFReD
4. %

Question Number : 138 Question Id : 7196501898 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s an end product of acid ram?

&8 800 BS53e06S TP O D SBotS Boths & ) 0?
Options :

CH:COH

(@]

H>SO4

H3PO4

Question Number : 139 Question Id : 7196501899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Stability order of the following carbocations 1s
S0l 9532063 20 )SPOOSPL O] EXoadn

O/C}ig 0/’ CH3 /CH]

_i_

(1) (11) (1)
Options :

(1) > (1) > (111)

(1) > (111) >(11)
2.9
(11) > (1) > (1)
(1i1) > (11) > (1)
4. %

Question Number : 140 Question Id : 7196501900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An alkyne X(C4Hs) forms sodium alkynide and when reacted with two molecules of HBr

gave Y. What are X and Y?
w8 @0y~ X(C4He) ¥Gohe ©0) 3G bégéo‘_’ngao& 0005w Toth e HBr & K03
2208 Y 5 39300, X 00050 Y €0 Qda?

Options :

X Y
CH,C=CCH, CH,CHBrCHBICH,

~
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X b §

CH,C = CCH, H,CCH,CBL,CH,
R
X b
H,CCH,C=CH H,CCH,CH,CHB,
3. %
X Y
H,CCH,C =CH H,CCH,CBr,CH,
4. v

Question Number : 141 Question Id : 7196501901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

The cyclopentadienyl cation 1s

§ VoG OIO SO 2l

Options :
Aromatic

VoAV

Anti-aromatic

S0 - WO S°EI5(OSPel eIG a5°¢35)

2.
Non-aromatic
oIS 55°¢35 52
7 ®
Non-planar molecule
Vo) LD 5P
4 %
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Correct Marks : 1 Wrong Marks : 0

In a carbon allotrope having FCC lattice, two atoms are at (0. 0, 0) and (E_ii)
8 8 8
coordinates. What 1s the ratio of C—C bond length distance to the edge length of the unit

cell?

FCC 2r0% B0 a8 S06)S Eraraddos’, Soto 08Sme0a9en (0, 0. 0) S60% (i,i,i)

8 8 8
?@@5&53 56 &) 0. @Y C—C Wotd@Tge WrTrS, ORI VS GINE), Woud k)0
(50 AQB.

Options :

i

—: 1
8
1.
NE
12
2, %
\/g'l
ik
3%
L
16
4 ®
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Correct Marks : 1 Wrong Marks : 0
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A 0.025 M aqueous solution of a monobasic acid had a freezing pomnt change of
(— 0.060) °C. What 1s the pKa for the acid? Given that molal depression constant K¢of
H>O 1s 1.86 K kg mol—1.

(log2=0.3,log3=0.5, log4=0.6)

28 0.025 M 5208 o Gy, a0mPSte D0ESSS oS’ S3080y (—0.060) °C. & &0
G30%), pKa 2anés? HrO ooy, doere odesss doreso (Ky) 1.86 K kg mol-
(log2=0.3,log3=0.5. log4=0.6)

Options :

1.2
1. %

2.9
2.

Nl
3. %

2
4, ®

Question Number : 144 Question 1d : 7196501904 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The dissolved oxygen (DO) value of water sample 1s 8 ppm. The weight of dissolved

oxygen present 1n 100 kg of water 1s

28 A SSneeS E00H), @gb%S(DO) Qe 8 ppm. @Yy 100 kg Dé3eS” 50AS 0D,
953%5 280 oJotd?

Options :

06¢g

~

T
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7 o

04¢g
3.

02¢g
4. %

Question Number : 145 Question Id : 7196501905 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Given that E°(Fe™ . Fe) =—0.04V and E°(Fe™, Fe) = —0.44V. the value of
E°(Fe™ . Fe™) is

g3ge0GS E°(Fe™*, Fe) =—0.04V %0050 E°(Fe™, Fe) =—0.44V, sond
E’(Fe™, Fe™) oends

Options :

0.76 V
| ¢

—040 V
78

—-0.76 V
3. %

040 V
4, ®

Question Number : 146 Question Id : 7196501906 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Which of the following graphs represents the auto catalysis?

&8 800 SIWERS o PO D000 &8 198EI0Dd HPDXVB?

Ly

Options :

.

|

%% Reaction

ing %
Time 4’
Lo
| %
F. .8
% Reaction
\55_5 %
Time —;
>0
2. %
#
% Reaction
365 %
Time —3
Lo
7 #
.
% Reaction
363 %
Tims —
o
4.

Question Number : 147 Question Id : 7196501907 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Which among the following forms cationic micelle after a certain amount of it 1s

dispersed in water?

&8 508 TPEIS” DA VO DOBIEIE” AIS” DEDEIo WIS Y0 SIS VS
D5\ BN
Options :

Sodmm lauryl surfate
V&0 €°B8S DS q)€5

Urea
OO0

Sodmm stearate

VAo PO
3. ¢/
Cetyl-pyridinium chloride
DEO-DOGIK §0G
4 %

Question Number : 148 Question Id : 7196501908 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following
Catalyst
A) Pt
B) V205
C) Zeigler-Natta
D) Fmely divided Fe + Mo

©8 S0l P BHBVG N0k,
&DY90%
A) Pt
B) V,0s
C) ef36-38
D) & 3 wereeed Fe + Mo

The correct match 1s

QOGNS wH
Options :
A B C
II I IV
|. %
A B C
vV I II
2. &
A B C
IV I11 II
3.V
A B .,
IV I 11
4, ®

w

w

II

I)
II)
111)

D)
1I)
iy

Process
Haber’s process
Polymerisation
Contact process

Hydrogenation

FPD0OEGEISN

0)83(Contact) D3

e BRSSEISD

gcollegedunias
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Question Number : 149 Question 1d : 7196501909 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The correct statement about Xenon fluorides XeF», XeF4 and XeFs 1s

O FOG XeFs, XeFs 2550050 XeFs 05 60y 00 De5des

Options :
all react with S10, at 298 K

298 K &6 00y Si0; &8° 583 28m)eron

|
all are gases at 298 K
298 K 3G ©9Q) aIPQeHen
2. %
all are thermodynamically unstable with respect to Xe and F>
Xe 200050 F2 © 05°00 09Q) @QIDE00T @200 0)olPON
3 ®
all react with water but not at the same rate
), Aedes” I0g 2:80)TP0W, 5°Q &S 0Py Jdoes” 2
4.

Question Number : 150 Question Id : 7196501910 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the compounds given in column (I) with their hybridization and shapes given in

column (II)

FON(I) & BIWES VDIFIINOD, FLR(II) S gI320GS T DoSOETEID SO

@5 ywed” 2385080 uwD.

Column I

o0 1
A) XeFs I)
B) XeOs3 1)
C) XeOFs I1I)
D) XeFs V)

The correct match 1s

OGS 23¢9
Options :
A B s
I I11 IV
1.
A B c
I II
2. ¥
A B .
IV I I
3. %

Column IT
seon 11

sp>d® — distorted octahedral
sp>d® — DEFDEI0 BodS WRINDOD(WFTPES)

sp°d® — square planar
sp°d? — DB LSS0

sp°— pyramidal
sp’— LGS

342 . -
spd” — square pyramidal
sp’d? — ISP DEDES

II

~

T
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Question Number : 151 Question 1d : 7196501911 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The order of octahedral crystal field energy for ‘e, orbitals are

€y wO)ErSe HNON wFrdS(wRdul) K8 £ ¥8 S

Options :

Lowered 1n energy by 0.4A,
38S" 0.44, Soaraw

Raised in energy by 0.6 A,

355" 0.6 Ay DSXDLSPOW

2. ¥
Raised in energy by 0.4 A,
355" 0.4 A, DEXDHETOW

; ®
Lowered in energy by 0.6 A,
35S 0.6 A, SoTEow

4. %

Question Number : 152 Question Id : 7196501912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following compounds shows optical isomerism?

& 800 BSGIES 00 030 T3S 6595 P50 HEOFW0B?

Options :
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[Cr(C204)sF~

|, v

[Cu(NH:)4]*"
2. %

[Co(CN)s]*
3. %

[ZnCl4]*
4. %

Question Number : 153 Question Id : 7196501913 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

During the course of cationic polymerization, the dimeric intermediate formed from

1sobutylene at the chain propagation step 1s

SRIOIPOE FOSOESES, Fyow0 HIGE BoB3 $& DINIHOS S0l & §ob & By

306553 DTGB a8 YIS,

Options :

CHi CH,

| I @
H;C = C_CH;—C T CHI

I I

CH; H

CH; CH;
| |
H:_l,C - C_CHI'—C 7 CH3
| @
CH;

2.9

~

T
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CH; CH,

| (N} |
H.C—OC-CH —~0—CH,;

| |

CHs H
3. %
CH; CH;
@ |
51 g T S S N
| | |
H CH;H
4. %

Question Number : 154 Question Id : 7196501914 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Glycogen

08230
o2

Options :

1s a hetero polysaccharide

¥ 3re30 rOTI0G
| %
contains only «(1—4) linkages
a(l>4) OoSBOD ST EDHotuold
2. % | |
1s similar to amylopectin but the number of branches are less
DS DIV FOadole H¥0y S FWOIND &Yo@ SN0l
3 %
contains both o(1—4) and a(1 ->6) glycosidic bonds
[i( 1 —)4] o003 U_(l —>6) Qé?\_)&g RS AL DN 5“.’; &olol
4. ¢

Question Number : 155 Question Id : 7196501915 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

Which among the following is “not correct™?

&t $00 IS’ DB DDV S0?
Options :

In saponification. esters of fatty acid are subjected to base hydrolysis.

Deas) DG WBgES', FYY BP0 DN 6 BODFE IotOTPO.

| %
Soaps are sodium or potassium salts of long chain fatty acids.
Q20YE, TGl (TLOWLD (L S BP0 OIS T&alo S éracde
aSEPL
2, ®
Soap 1s precipitated in the solution after hydrolysis without adding external
salts.
2O SETS, wPlrg LSS FLDHF0GRS Deddy) WBEDE0 Woledob
3.

Hydrolysis of fatty acid esters gives soap along with the formation of glycerol.

§a)3 B0 B BODFIE Do Veasyes* I HIITPSKD o8 YT

Question Number : 156 Question 1d : 7196501916 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What are P and Q in the following reaction sequence?

808 S50 IBeS" P 300050 Q €0 2dD?

el
CH,CH=CH, HBr . p C H, /anhyd AICI, ., Q
(CsHs5CO),0, major
S
Options :

~

T
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P

CH,CH,CH,Br
1. v
P
CH,CH,CH,Br
2. %
P
CH, C HCH,
B
3. H
CH,CHB:CH,
4. %

Q
C,H,CH(CH,),

Q
C H.CH,CH,CH,

Q
CH,CH(CH,),

Q
C H.CH,CHBrCH,

Question Number : 157 Question Id : 7196501917 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following compounds will give iodoform test?

&3 800 o) D3 TS0 OAFE Yo HOLD 0B

Options :

CH; - (I‘H — CH;
OH

CsHs — CH, — CH,OH

~

T
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i
CH_:,—? ~ B,
OH

CHL G ?H — CH, — CH;
OH

Question Number : 158 Question Id : 7196501918 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The major product(s) in the following reactions 1s/are

& 8o WSBUS' DTS BB T*) L0 WD?

H3C ;
: OH  (i)20% H,SO,
CH; 358-363K
(i) O3
(1) Zn, H,O
Options :

0
? _CH,, HCHO
. *
0
CHO
H,C
CH;

O O

H,C )J\/\/LK

CH,

3. ¢

~

T
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OHC CHO

CH;

Question Number : 159 Question Id : 7196501919 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The compounds X. Y and Z 1n the following reactions respectively are

St S0l V35" X, Y 00050 Z &hyae) a0 SEue

EIOH LiAlH, (1) Na
COOH » X T > Z
Conc.H,S0, C,H:0C,H: (11) CH,I

-

PG A
Options :
: ” CH;OH : K &
B
3.9
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Q
O
I OH \CH;
2 2
4, %

Question Number : 160 Question Id : 7196501920 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

highest boiling point?

S ©EVETS0 KON §o BEDHLES W6 W3O BTRYEISS PSSV EeHobnod.

Options :

2

Ethyl N. N — dimethyl amine

80O N, N — GaogS

Diethyl amine

GRDS 2daDR

n — Butyl amine

1 — 2203836 WJd

tert—Butyl amine

66 — g AN

Among the following molecules with the same molecular weight. which one has the

~

T
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